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Topic:- Grad_Nutrition and Health

1) Following methods are used to Assess the dietary intake of individual:/

fed & MR UG BT e B34 & fow 30 | fpy fafy &1 Iua frar e @
1. 24 hours dietary recall/ 24 ©¢ &1 GH"E»'RF-IT?I
2. Weightment of raw foods/ P We TSIl BT HR ATYT

3. Food frequency questionnaire/ W& SRWIRAl UHTacl
4. All of the above/T:FCPjaﬁ ekt

Correct Answer :-

« All of the above/@ﬂaﬁ ekt

2) AIDS is disease:/USH Th AT 8
1. Endemic/ Rl Era

2. Epidemic/ HETHRT

3. Pandemic/ddaATdl

4. Sporadic/f&c-ge

Correct Answer :-

« Pandemic/IdoTdt

3) When iron deficient adolescent girl become pregnant they have a higher

chances of:/ Sd MR I HHI ¥ Nifga feud mvad gt g ot B FRHTEAT
3rf¥e gt @:

1. Preterm delivery/ §Hd I DE?IWH



2. High birth weight babies/ S/ & ¥HY 3{fdd R ardt RSt & 4
3. Twins pregnancy/ Jedi fRigraf
4. None of the above/?q?jaﬁ oY P gl

Correct Answer :-

« None of the above/B“Cijﬁ T ¥ I ol

4) Iodine deficiency before and during pregnancy can lead to
infants: /ﬂmﬁ%ﬁmmaﬂ?m@ﬂqaﬁmﬁaﬁﬁmﬁmﬁﬁﬁ
Bl TP §:

1. Cretinism/ Sl (MHan)
2. Anaemia/ IadTeddT (THITHAT)
3. Infection/ ThHU

4. Oedema/ TSHT (RA THA g1 I I o)

Correct Answer :-

« Cretinism/ sheldT (ATH-dT)

5) Food utilisation depends on:/ @l SUANT R R #var 8
1. Bioavailability/ SIg IUd=dT

2. Safe and potable water/ JRf&rd Td U4 A o1

3. Hygiene and sanitation/Iwdl Td 3URY Fe™

4. All of the above/Gq?jTﬂ ekt

Correct Answer :-

« All of the above/3Iudad I+

6) As per 2015 Global Hunger Index report India is ranked amongst
the leading countries with serious hunger situation:/ 2015 Yy WG AhIP
feuid & srgamrR, iR iy RAfT ara srroft 3= A URa &1 qi R 8:

1. 40th/40 qf

2.15t/154d7

3.10%/ 10df

4. 20th/ 20 af



Correct Answer :-

. 20t/ 204

7) The causative agent of typhoid is:/ CIsWhIgs 3dA P ardT Sig %:
1. Salmonella typhi/ A eTaw!

2. Botulism/ Sigfered

3. Algae/ IGI G|

4. Fungi/ ®d&

Correct Answer :-

« Salmonella typhi/ AT eTaw!

8) In a child suffering from marasmus which of the following clinical

manifestation is not observed?/ T 9 tﬂ'%‘c[ CECk: | ET-N?[ g ®IF-91 anefore
Uehe fears 18) &at 82

1. Watery diarrhoea with acid stools/ 3 A & I1Y U O &
2. Subnormal temperature/ IHFT ¥ &H dIOHH

3. Visible peristalsis from thin abdominal wall/ 3aR &I del dldR & SHHTD T fears ueHl
4. Generalised oedema/?l'lﬂ'ﬁ’ﬂ% Q@TIT

Correct Answer :-

. Generalised oedema/STHRiIHd TS

9) Which of the following factors affect foetal growth during pregnancy?/

THTERT & R M Rg) #t 9f 31 390 A S9-91 FRS YUTHAIT HaT 82
1. Nutritional status/ o7 fRUfd
2. Hygiene and sanitation/ a1 Td ARy ey

3. Genetics/ 3TdRIb!
4. All of the above/ Iudad T+t

Correct Answer :-

« All of the above/ I0dad T+t

10) Which of these following pair of disease caused by virus:/ 375 o PI-T1

AT-gee fauTurel g T 22



1. Rabies and Mumps/ 8ol Td 0T/ Tags (Fi)
2. Typhoid and Tetanus/ TRWISS 3R ¢eId

3. Cholera and tuberculosis/ &Sl @TW@W

4. None of above/'o”q?jil?r pei: | ﬁ'sc EE

Correct Answer :-

. Rabies and Mumps/ Y&TST Td SHUMARNY/ TGS (HH)

11) Anthropometry measurements such are height, weight, skinfold

thickness are valuable indicators of:/ Jfifa Tra=h AT, S TS, HR, S @@=
3t HieTs 3fe, & HeayUl Hdha® o

1. Pellagra/ D)

2. Biotin deficiency/ S 1 ol
3. Nutritional status/ GIyor f&fa

4. Dermatitis/c_OITvlTQﬁ?J

Correct Answer :-

« Nutritional status/ o fRyfa

12) The toxin present in kesari dal leads to diseases called
Lathyrism:/ WIRY e # IufRyd ATH® Siafey saraEs (FAHT0ET) THE
T IT BT &

1. Beta gamma amino acid/‘qﬁ?{ T AT 3
2. Beta oxaly amino alanine/ ST 3iigoall SHAT TaH—
3. Beta hydroxyl proline/ dlcT grISiaRId Uiei

4. Beta alpha amino acid/aplET 3HT ST 3

Correct Answer :-

« Beta oxaly amino alanine/ Ster Sffaorert ST e

13) A macro nutrient whose primary function is tissue growth and

maintenance:/ T% 98¢ UV dd oTI®T BT BT FHdd ik Ud I@IW14 §:
1. Fats/ 94Tt

2. Carbohydrates/ & éiél%@a
3. Proteins/ UlcH



4. None of these/ sﬂﬁ J aﬂ'sc 'TEﬁ

Correct Answer :-

« Proteins/ UIdH

14) Inadequate pituitary function and elevated plasma growth hormone is

associated with: /9y 3R i} srdemar sraata g iR wirenT § i giaia &1 wR
= 3 4w g & 1Y IR §:

1. PEM
2. BMR
3. SDA

4. TEE

Correct Answer :-

« PEM

15) Mumps is an infection of:/ HUYERNY/TERISMT (TT) ®T YHHT §:
1. Parotid gIand/$U’-rl?Ij1c (ail ES) pID]

2. Submandibular gland/ 3afig® i (FeHfSgeR) Uy

3. Sublingual gland/ 3fefSTgT (FafeR[sra) ufy
4. Submaxiallary gland/ 3SR (TaATRICRT) TR

Correct Answer :-

. Parotid gland/®Uuiqd (RIfee) ARy

16) The physiological fuel factor: one gram of fat yields:/ IRIY foharer® se4
PRP: TH 9 o1 ° T el 3

1. 8 kcal/8 fradaR!
2. 9 kcal/9 fwaipant
3. 7 kcal/7 faidmant
4. 6 kcal/6 fHaImaRt

Correct Answer :-

« 9 kcal/9 fraipar



A child has presented with growth retardation, inability to walk and bruises
all over the body. Which of the following nutrients should be recommended

as a supplement to be diet?/ U g @ gfg Af<d 8, 98 99 18] TPdr g iR ST
R IR W e 02 gL 21 ER I RP F U A 590 4 fo5g tived ad &1 Joira fear s
q1fgu?

1. Milk/ g4

2. Egg yolk/ 3 &t ordf

3. Pulses/ qId

4. Citrus fruits/fRicq URaR & wa (Hawlt, IR, g 3fe)

Correct Answer :-

. Citrus fruits/Ricq TRaR & wa (Hw, IR, g 3fe)

18) The goal of treatment of tuberculosis is to:/ SERFAINTT & IUAR BT AT e

1. Ensure high cure rate/ 3= m E‘Rﬁﬁ@ﬁ HAT

2. Minimise relapse/ gd%lqi?l GAdH HRAl
3. Prevent emergence of drug resistance/ 3iSf¥ ufeRiy o IAfy AT
4. All of the above/ B“Cl?ifﬁ gt

Correct Answer :-

« All of the above/ B“q?ifﬁ gt

19) Balwadi Nutrition Program is a health care and education program
launched by Government of India in 1970 which provides food supplement:/
IIAATS! WYY FTIHH HRG IRBR gRT T4 1970 H ARTY fHa1 TT T WA T@UTA Td
fRreor wrfepw @ Y BT AU WIS W T 8:

1. 300 kcal/ 300 foHaimat
2. 500 kcal/ 500 faipant
3. 288 kcal/ 288 fHalmaRt
4. 400 kcal/ 400 fFaimaRt

Correct Answer :-

« 300 kcal/ 300 fFaibart

20) Pre conception and prenatal diagnostic techniques act focus on:/ femzor-

vd U9 U9-Ud AT (STeuifes) ae-ie sifuftawm W Hf=d &
1. Preventing female foeticide abortion/ HTal Yur Mg BT AHU™



2. Preventing sex detection before birth/ S J usa ol uga= &t A UTH
3. Comprehension and appropriate counseling to couple/ <ufd &l e T SUYdd Rt
4. All of above/?q?iaﬁ gt

Correct Answer :-

« All of above/3Iudad I+

21) For a healthy well-nourished adults energy requirements is equivalent

to:/ WX JUIT TUTP B oIl maRaHdl & gUdd Bl B
1. Total energy expenditure/ ﬁ&_vﬁm

2. Partial energy expenditure/ 3fif¥® ol g

3. Incomplete energy expenditure/&r{ﬁﬁﬁm

4. None of these/ 370 ¥ B3 g1

Correct Answer :-

« Total energy expenditure/ $d Sl g

22) Goitrogens are the chemical substance interferes with ___ utilization

from thyroid gland:/ Tgcio 3 YTaf® ugrd & o o (YrRTeS) AR A
& SUUNT § gAY Fd B

1. Vitamin B1/ faeifi= B1
2. Vitamin B3/ fdeTia B3
3. Iodine/ SIS

4. Vitamin B6/fac1fi B6

Correct Answer :-

. Iodine/ 3MASH

23) Classification for grades of malnutrition based on Mid upper arm
circumference values considered severely malnourished:/ 9 SWI gig Bt

i & SMYUR R HUITor &1 Afor o arffewor & foe 74 3 foog a9 & ik o 3
PUIa 3t Jolt & @1 Srem?

1. More than 15.5 cm/ 15.5 9 T 3ifd/es
2. More than 13.5cm/ 13.5 9 ¥ 3ifd&

3. Less than 12.5cm/12.5 9HI ¥ &H

4. None of the above/dugl:drl T ¥ HIg ol



Correct Answer :-

e Less than 12.5cm/12.5 I T HH

24) Which of the following is a problem not experienced during pregnancy?/

mufarr ® 379 | g guwn &1 sgya T8l gaT 82
1. Nausea/3sbTs

2. Oedema/ TSHAT (RA UhH 511 A I Yo)

3. Vomiting/BT*iﬁ'ClT

4. Tooth decay/aldl § T

Correct Answer :-

. Tooth decay/aldal § T

25) Vitamin A or retinol (preformed vitamin A) is found only in foods of:/

faerfiq A ar ¥eata (=i faefmA) Faa_ visa verdf o uman &iran &:
1. Plant origin/ UTGU 4d &

2. Animal origin/ﬁﬂjf$

3. Fungi/ ®d®

4. None of these/sqﬁ I ﬁ'sc Tgl

Correct Answer :-

« Animal origin/GﬁH’ﬁ%

26) For a healthy outcome of pregnancy, expectant mothers should be given

supplementation of:/ THfgRI & W= oA & ﬁﬂ'{, gt ATarey DI
g feam s arfye:

1. Iron and folic acid/ 3RRA Td HIfdd 3
2. Vitamin A/ faeTf®= A
3. Vitamin D/ fger= D
4. Vitamin K/ faeTfiq K

Correct Answer :-

« Iron and folic acid/ 3R T4 Bifcid 3



It is defined as weight in kilograms divided by the square of height in
meters, it is also termed the Quetelet's index:/ 39 fFamd # 4R &I diex A
waTs ¥ aif A T 73% ure 339 §, 32 Fede gueie ff waa &

1. BMI
2. BMR
3. RDA
4. DRI

Correct Answer :-

« BMI

28) Which of the following group is more vulnerable to fractures and calcium

geficiency?/ 30 A BIH-GT g R R Hferraw ot vt & ufa eiftre sRRféa
?

1. Adults/ dUIHh
2. Adolescents/ fhRIR

3. Elderly/ S
4. None of these/ sﬂﬁ | aﬂ's‘ T8l

Correct Answer :-

. Elderly/ g7

29) Excessive intake of Macronutrients and sedentary lifestyle leads to:/ dg¢

9IY® a@l & AAius g ok fAfepa siaaielt & HRor & gt g
1. Good health/ 3731 WA

2. Prosperity/ JWAdl

3. Obesity / HIeTdl

4. Healthy lifestyle /3a® Siia- Qi

Correct Answer :-

» Obesity / e

30) Clinically Vitamin B12 deficiency leads to a condition called as:/ & d
=P 4, faerfiq B12 &t &t & Rl e fRUfd I gidt 2

1. Iron deficiency anemia/ 3MRA SRR wiftrr (de —grar Jgareddn)
2. Pernicious anemia/ TR Tt




3. Bad breath/ 919 ¥ g7
4. Tooth decay/ aidl H TeT

Correct Answer :-

« Pernicious anemia/ G-I THITHAT

31) It is recommended that during the first six months after delivery the

infant should be exclusively:/ T8 3T $I STel 8 P 7T & 91¢ & IR B
EHEIRECEIGRR NG ) 1LY

1. Bottle-fed/ Siad ¥ g4/3MER U
2. Weaned/ ¢q¥ g Sidl

3. Breast-fed/ ¥dUT AN

4. Formula-fed/ & &I QY/ 38R fUamn

Correct Answer :-

« Breast-fed/ XUl HdMI

32) The five food group plan permits an individual to plan a menu to achieve
nutrient intakes as specified by:/ U9 YIsd JYg dro-T T g1 Ay dive
T TURUT U He & T Gt auR - &t giaer St @

1. RDA
2. UN

3. UNESCO/J%!
4. All of the above/ Iudad Tt

Correct Answer :-
« RDA

33) Phosphorus plays an important role in the formation of:/ Laraare:|

& fmtor & wgygel yfirer fAvmar 8

1. Bones and teeth/ ST 3R qldl

2. Hair/w

3. Maturation of red blood cells/ el & DIRIBISH &b GRUD

4. Healthy skin/Xd¥f gdl

Correct Answer :-



« Healthy skin/Xa¥®f gdl

34) Complications of pneumonia could result in:/?]:lﬂﬁ'm P Afeadan Cal
PR 99 P! &

1. Increased heart rate/ g&ad & E{@

2. Difficulty in breathing/ g o1 § wfeas
3. Both of the above/ Wi G

4. None of these/3TH ¥ &5 gl

Correct Answer :-

e Both of the above/ RUCIESRAG]

35) Angular stomatitis, glossitis, cheilosis are the deficiency symptoms of:/

ﬁvﬂtrgvg:w (Q%;av wWiHergfew), ogry (F@arsfe) ik sigfaewar (Fafm)
&Yl B:

1. Calcium deficiency/ PRy ot HHt

2. Riboflavin deficiency/ usd\lhlalrad Pt HH
3. Vitamin C deficiency/ faer®= C & &H!
4. Vitamin D deficiency/fdei®= D &1 &t

Correct Answer :-

« Riboflavin deficiency/ ST B HH

36) Which of the following is communicable disease?/ 370 q 19 UH HIRURNE
T 7?2

1. Diabetes/ AYHg

2. Dipetheria/ fewiifear
3. Kwashiokar/ BIRRDR
4. Marasmus/ERRAH

Correct Answer :-

« Dipetheria/ fewifear

37) The predominant sign of vitamin K deficiency is:/ faerfi K @t &t &1 g=1
Tddbd %:



1. Haemorrhage/ Yaddld

2. Weight gain/ dvi+ de-T

3. Polio/ Uiferl

4. Tuberculosis/ &4 T (Wﬁﬁ)

Correct Answer :-

« Haemorrhage/ Yaddld

38) What are the necessary steps to be taken for prevention of Dengue?/ @.‘{L

P AHYUH & T ISTT S ard ATTIP HSH T 82
1. Environmental hygiene and sanitation/ GaieRufT W@=sdT T SRy Ao

2. Use of mosquitos repellent/ 3= YA 9Tl SATG] BT YR
3. Protection through proper clothing/ 3fed a¥al & AT ¥ YR&
4. All of the above/G’q?jTﬂ Tt

Correct Answer :-

« All of the above/@éﬁﬁ ekt

39) Energy requirements during infancy are very high because this is one of
the periods of very:/ JRAHTAA SHoil MAIHATE Tgd U gidt & FNfP I8 954
St Ad TR

1. Rapid growth/ did q@

2. Rapid teeth formation/ ardl & dig fHfor
3. Rapid walking/ dsit ¥ Ia-

4. None of these/ 374 ¥ ®Is o

Correct Answer :-

« Rapid growth/ dtg dfs

40) A healthy expectant mother, consuming nutritious diet and regular
physical exercise have a good chance of giving:/ TI9® T8I A areit w4 fafia
U 9§ IR saramy 4 arelt ot Tifadt qrar & ara @ Pt BT JRITIAT

gidl &
1. Normal birth/ I9THII Udd
2. Caesarean birth/ HoIRTT g

3. Complicated birth/ Sifcd wqa



4. None of these/ sﬂﬁ J aﬂ'sc 'TEﬁ

Correct Answer :-

« Normal birth/ ITHI Udd

41) The "Purdah"/"veil" system decreases the availability of:/ "ugi" / "que"
TUT Y SUSedT "erd! gl

1. Vitamin A/ faeifia A
2. Vitamin ¢/ fderfi= €
3. Vitamin D/ faeIfi= D
4. Vitamin K/ faerfd= K

Correct Answer :-

. Vitamin D/ f[deIf#E D

42) Major commodities distributed in public distribution system include:/ 5S4

fara=or yomreht & faafya g4 arelt g1 awgei & wfaa &

1. Clothes, medicines/ dd, ifert

2. Wheat, rice, sugar, kerosene/ ﬁ_§", drdd, R[adhy, ﬁl?f P dd
3. Vegetables and fruits/ gfesrdi Td d

4, Immunization/ﬂﬁﬂ&ﬂm

Correct Answer :-
. Wheat, rice, sugar, kerosene/ 71§, aTad, G&x, He! &1 dd

43) A healthy well-nourished expectant mothers usually gives birth to a:/
WX, Guifta 1vfadt arar amm=e: P 9 <t &

1. Heavy baby/HR} QFSZI

2. Healthy baby/ W& fRIg]

3. Stunted baby/ 3feafddhid g
4. All of the above / wjaamﬁ

Correct Answer :-

« Healthy baby/wm



44) MMR vaccine provides protection from following diseases:/ MMR d&fiF

9 & fr A @ gren A R

1. Measles/ @I

2. Mumps;/ HUTRII/ TGS (HH)
3. Rubella/ Sedl

4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3Iudad I+

45) Following are the determinants of food security except:/ 38 4 f&d
BIsHR 3 fapey, @ JR&m & fAuie g2

1. Food availability/ Qr<] USRIl

2. Food accessibility/ @<l JT&Idl

3. Food utilization/ &Tel JUART

4. Food marketing/Xdr<] fagua (Iﬂaﬁ?ﬂ)

Correct Answer :-

« Food marketing/@Te fauuE (drehTem)
46) Pandemic of disease refers to:/ Hdamdl (Y3fire) 31 &1 3 379 A frad @
1. When spreads through-out the world/ Si& I7T QX fay o % SQ

2. When spread among below poverty line population/ Sid T RIS W@ ¥ A | ard
ST ® et g

3. When spreads only amongst geriatric group/ SER Ww@ﬁf # a8

4. When spread is mostly observed in urban population/S/& I fIHTIT: TR SEwe H
W gl

Correct Answer :-

« When spreads through-out the world/ Sd @TTER fay o WGFFQ

47) Gestational diabetes during pregnancy may result in baby's with:/

THTGRITHTAN AYHAT & PIROT______ Il FRIR] HT &9 g1 APl &
1. High birth weight/ S/ & IHg 3ft® YR

2. Low birth weight/ S/ & IHd &H UR



3. Normal birth weight/ S/ & JHg 9Hg YR
4. All of the above/3dad It

Correct Answer :-

« High birth weight/ S/ & ¥8Y 3fdid UR

48) Undernourished pre-schoolers are prone to:/ 3equifyd yd-fagmerit =i o
BN &Y gwTa oifye Bl @

1. Protein energy malnutrition/SeH 3ol FAHOT
2. Protein malnutrition/ T¢I $UIyor

3. Energy malnutrition/ &l HUNOT

4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3udad I+

49) Scurvy is due to the deficiency of:/ THdl P HH F HRUT T 8:
1. Vitamin ¢/ faeifim ¢

2. Fat/ a4l

3. Carbohydrates/ ®TEERIGE
4. Vitamin D/ fderf&= D

Correct Answer :-

« Vitamin C/ faeTi®= C

50) The bacterium Haemophilus influenza lives in:/ SHIBTSAY SUAET ATH®

Sty H YgaT &
1. Nose and throat/ A& g 7Tl
2. Intestine/ 3T

3. Heart/ a4
4. Stomach/ THIRII

Correct Answer :-

« Nose and throat/ A& g 7Tl



51) The process of introduction weakened pathogen in the human body is
called:/ AT-d YRR # &ftor 5471 f3T 7Y IrTe=a 3t ufaw o= o wfsear &t Fed
&

1. Immunization/ WfaReaftemur

2. Vaccination/ STl

3. Attenuation/&ftor

4. None of these/3TH ¥ &5 gl

Correct Answer :-

« Vaccination/ SIHIHRUI

52) One kilocalorie is equal to:/ Tk fealdant TN &
1. 4.184 kilojoules/ 4.184 fohdIe@

2. 4.284 kilojoules/ 4.284 fadia

3. 4.148 kilojoules/ 4.148 fad@
4. None of these/ 3TH ¥ &3 Tal

Correct Answer :-

« 4.184 kilojoules/ 4.184 fardio@

53) Recent studies have indicated the need for the inclusion of arachidonic
acid and docosa-hexaenoic acid (DHA) in food for infants as they are

particularly important for:/ grferar HW@WW%%WWﬁ%W
H WP i MR SIPHT-3aISH 3+ (DHA) P XM HIA BT ATIRGIAT 8
P 3 ¥ fre faRiy = @ wewyf &

1. Bone development/ IR & fapTg
2. Liver development/ & d & faer

3. Brain development/ ARTsH & faerg
4. Eyes development/ =31 & fa&rg

Correct Answer :-

« Brain development/ AR & &N

54) Iodine deficiency disorder in Adolescent could result in:/ fHRTGRIT #
M a1 PR 81 A 8 9ol &

1. Juvenile Hypothyroidism/ f&RIR 3fag3redishadl (Ja-Tsd sTeUURRIA SSH)




2. PEM
3. Pernicious anemia/ TR Qzﬂﬁl?:ﬂ
4, Scurvy/Eo_Cﬁ

Correct Answer :-

« Juvenile Hypothyroidism/ f&RIR 3ragsredfehaar (Ja-Tsd gIUIURRIAISSH)

55) Which of the following is a monosaccharide?/ TTH 9 P9 TS M HRISS a?
1. Lactose/ ddeIS

2. Maltose/ AT

3. Galactose/ TddeIS

4. Raffinose/ fth-ret

Correct Answer :-

. Galactose/ Tidiacial

Topic:- Grad_General Knowledge and Logical Ability

1) Naveen walks 20 m towards East, then he turns left and walks 10 m, he
again turns left and walks 20 m. How far is he from his starting point?/ ECIE]

7d @1 3R 20 Hew 7@, R ST gsar 10 Hiex =, 98 fibe I 918 ger ik 20 e T«
98 3 TR g A fpafti g e 2

1. 10 meter/ 10 Hiex
2. 50 meter/50 Hiex
3. 40 meter/40 O

4. 30 meter/30 Hiex

Correct Answer :-

« 10 meter/ 10 Hex

2) The Dowry Prohibition Act of was an effort at government
level to eradicate the evil of dowry./ gg fAuYy srfafaas, 8o DI PUUT &
IHEH 7 IRPRI WX W fowar Tam v Jri

1. 1970

2.1971

3. 1959



4. 1961

Correct Answer :-

« 1961

3) Facial deformity, defective limbs, heart problems, cognitive impairment and behavioral
problems in young children may be a sign of maternal abuse of which substance during

pregnancy:/BIe gl § dg¥ @1 fapfa, Srugef g1y-1R, gou Ta=h wuwam, Symrars eftvra, ik
IR T AATY, THGRIT F SR ATl gRT {59 Argw uerd & HuanT &1 Hbd gt TPl 8?2
1. Chloride/ FIRISS

2. Alcohol/ Tehigd

3. Salts/ <dUl

4, Tobacco/ el

Correct Answer :-

« Alcohol/ Tehigd

4) The Head of Zilla Parishad is a:/ e ufvug &1 gfEan gar @:
1. Chairman/3{&4&f

2. District Magistrate/ Wﬂﬁl@@'

3. Gram Pradhan/ 91H U4

4. Councilor/ UTSg

Correct Answer :-

« District Magistrate/ foren AfSee

5) DIRECTIONS: Find the missing number./f3%T: @ I J1d B

14 |198
19 |?

1. 325

2.418

3.522

4. 363

Correct Answer :-

e 363



6) During delivery of a baby, the process during which the cervix becomes nearly fully dilated
and the head of the fetus begins to move into the birth canal is called:/ ﬁl‘\ﬁ Cakcs %?TW, &g
afsrat & SR Uiz iar (wfdeT) v gft @ve o St g oiR MR Rigy &1 RR o= A1ra F omt
T R HY &l 82

1. Transition/ TshHUT
2. Labor/ U&d
3. Breech/ 3dc S (sfia)

4. Crowning/ STHIT/HISA (HI3HT)

Correct Answer :-

« Transition/ b HUI

7) In MS Office, work sheets are prepared in:/ THUY 3fpyg ﬁ, THhefic fFad FuR giat %:
1. MS-Word/ THTE-38

2. MS-Excel/ THUH-URIA

3. MS-Access / QTIWQH@G

4, MS-PowerPoint/ THII-UTR WEc

Correct Answer :-

e MS-Excel/ THUH-URIT

8) The 739 amendment act of Panchayati raj was done in:/ GaTds! IS
Srfuferaw # 73ai T=neq 59 9 forar war ar:

1. 1991
2.1992
3. 1993
4. 1994

Correct Answer :-

« 1992

9) DIRECTIONS: Find the Mirror image of the given figure./ frder. & wht awh
1 guor yfafers g &)

Question figure/ U¥ Gﬂq?ﬁl

N




Answer figure/ 3dX anqsﬁr

2NN

(@ (b (d)

1.a
2.b
3.C

4. d

Correct Answer :-

10) FAS refers to which condition:/ FAS &1 I forg fRUfa A %?
1. Facial abnormality system/ HREA QEFIW Ren

2. Father absence syndrome/ HiaX Q&ﬁfﬂ ﬁl@ﬁ

3. Fetal ammonia syndrome/®ica AT Rigw

4. Fetal alcohol syndrome/ icd Tehigd RigH

Correct Answer :-

« Fetal alcohol syndrome/ Hicd Tehigd RigiH

11) The term social justice was first used in the year:/ Ue AT S =A1g H1
SUUNT G99 Ugd Y o fopaT T AT

1. 1840
2. 1856
3.1948
4. 1950

Correct Answer :-

12) If ‘Lily’ is called 'Lotus’, ‘Lotus’ is called '‘Rose’, '‘Rose’ is called
‘Sunflower’ and ‘Sunflower’ is called ‘Marigold’, then which will be the
national flower of India?/ afe '$YfeTt" B ‘HU" FHel WTdT 8, FHA’ B! [ATS’ Hal
STdT 8, AT’ &) YRl HT STl 3 SR GReg™El’ &) ‘gl $7T |rdl 8 af HIRd BT
TP G B AT GRI?

1. Lily/$afe



2. Lotus/&HA

3. Rose/ T[dld
4, Marigold/ﬁ'ET

Correct Answer :-

13) A person pedals from his house to his office at a speed of x; km/hr and
returns by the same route at a speed of x, km/hr. His average speed is:/ T®

ATt 3T W A FrATaT B Ued x, fHei/aver it nfa & wrar § ok St I & x, fpel/
HUST $I TFd A a0 37T 81 STPI 3 71 &

Xy + Xg
1. 2

¥+ X
2. 3

3 Xy Xg )
4 1 + Xz

2Hy. X

4. X1 + Xz

Correct Answer :-

ZX:L . Ko

.X1+X2

14) Rs.4,200 is divided among Kamal, Dev and Rajat in the ratio of 7:8:6
respectively. If Rs.200 is added to the amounts of each of them, find the new
ratio of their amounts. /& 4,200 & T I HUH, 9 3N T S T HATT: 7:8:6
¥ 3rqurd A faurfora @1 ot 81 afe 398 | s & Af A T 200 s f&A S¢ a1 IS
TR BT 47 3UTd JTd D¢l

1.8:5:2
2.7:9:5
3.7:8:6
4. 8:9:7

Correct Answer :-



DIRECTIONS: Choose the missing terms out of the given alternatives./ frd:

fu e fawedl o | gu ue F1d B |
a-cd-b -dabc - abc - abc -

1. acbdbb

2. abddbd

3. adbcad

4. bacddd

Correct Answer :-

« bacddd

16) Training and Visit System was introduced in India in the year:/ YR A
WIRI&OT T ITAT YUTTeH & Y& S0Td 39 AT 9 §5:

1.1974
2.1975
3.1976

4. 1977

Correct Answer :-
« 1974

17) Full form of ICT is:/ ICT &T T <19 &:

1. Integrated Computer Technology/ $¢1UCE HUER CaIarSit (TbIghd HECX WD)

2. Information and Communication Technology/ m@méﬁﬁ(w
Td YER Uenfieh)

3. Indian Computer Technology/ 3f&a- &eR TaIdS (MR SR Ui
4. None of the above/ IWRIad H § 13 gl

Correct Answer :-

« Information and Communication Technology/ ZHIIRM Q@Iqo#gﬁao&ald éﬁﬁ\‘rﬁ(@ﬁlﬂ
Td 9IR M)

18) A cistern has a leak which would empty it in 8 hours. If a pipe is turned
on into the cistern, then leak will empty the cistern in 12 hours. Find the
time taken by the pipe to fill the cistern, if leak is closed./ Q’EF@?{E'H?[ &I 8 He
H Wil R T 31 Al TP a0 &l bt W Ut URGT 8, AT 8 df D bl Bl 12 U H @reit
HIdT g1 SB B WA T 9d & gRT T a1 99y g9 79, afe ¥ 96 a2



1. 20 hours/ 20 T
2. 24 hours/ 24 ot
3. 30 hours/ 30 ©¢

4. 45 hours/ 45 °¢

Correct Answer :-

« 24 hours/ 24 ¢

19) The average of 50 nhumbers is 45. Later on, it was discovered that two
numbers were misread as 12 and 19 instead of 21 and 91 respectively. Find
the correct average./ 50 J@IT3{l BT 3 45 &1 I1¢ A 34T 74T fh & HWATT HHI: 21
3R 91 & FOTT Terdt | 12 3R 19 U &t Wit &1 W&t ia gra Siford |

1.48.15
2.47.45
3.46.62

4.45.52

Correct Answer :-
e 46.62

20) Pointing to a photograph a woman says, “He is the son of the wife of my
husband’s father”. How is the man related to the woman?/ T&% d& R &t 3R

SYRT Hd §U U AfgaT ped! @ fp, "ag A ufd & far &) ueht &1 31 21 98 are) 39 afgen
¥ fora yprR Tl 32

1. Son/dcl

2. Son-in-law/<qMHTq

3. Father / U

4. None of these/3TH ¥ &5 7ol

Correct Answer :-

« None of these/éﬂﬁﬁaﬂgqﬁ

21) Protection of Women from Domestic Violence Act was passed in the

year:/ T¥q f&ar & ufgarsii o gream sriufray af o urfed gam AT
1. 2000
2. 2005



3.2010

4, 2015

Correct Answer :-

« 2005

22) National Rural Health Mission was stared in the year:/ ?TQ’I'HEITFﬂ'UTW
iz ot 3 ena fa aTa §s:

1. 2003
2. 2004
3. 2005
4. 2006

Correct Answer :-
« 2005

23) Which answer figure will complete the pattern of the question figure? /

e o 3 ot Y SR spfa wy enpfa &t guf wvft?
Question Figure /725 3T Answer Figures /37 HIF T

[T
?
I 0
[J =
ml ml Y
na! =) (b) (©) id)
1.a
2. b
3.C
4. d

Correct Answer :-

24) The nodal ministry of the government of India for the advancement of

%vomen and children is:/ mﬁwa@ﬁm%mmwmmm

1. Ministry of Social Welfare/ JHTS &0l HATT

2. Ministry of Women and Child Development/ Afgdl Td a1d f[d& 1 Hare™



3. National Commission for Women/ 814 Higal 3TART
4. None of the above/ SWRIad | J ®Is gl

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td a1 fasbrg HATed

25) Child Marriage Restraint Act 1929 was replaced by:/ 919 fdarg Ry
Sffrae 1929 &1 R ... 3 e ari

1. The Prohibition of Child Marriage Act 1978/aTd faare Ay sifdf=aw, 1978
2. The Prohibition of Child Marriage Act 2006/ dTd faarg vy sffad, 2006

3. The Child Marriage Restraint Act 1974/ §Td faarg =Ry sifdfaH, 1974
4. All of the above/ I9dad g+

Correct Answer :-

« The Prohibition of Child Marriage Act 2006,/ STd fadtg fAuy sifefaH, 2006
26) Ctrl + X’ depicts:/ ‘Ctrl + X’ WaRfa &ar

1. Cut/ &c

2. Copy/ iUl

3. Clear/ fRR

4. Save/ g

Correct Answer :-

27) The NAIP was launched in the year:/ NAIP ®! Y[¥3/1d 59 94 # §%:
1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-

« 2011

28) ‘Ctrl + B’ depicts:/ ‘Ctrl + B’ UERfd &1 g:



1. Ungroup/ 34U
2. Bold/ Sics

3. Backspace/ SHWY
4, Save/ g

Correct Answer :-

. Bold/ &

29) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /{31 1 faU 70 Uz A O FYA 3R TP 18 $o fewd faw e 71 syt
fou T YT B TG ATAT 8, Y g1 9 Jagd aat A fy=1 udia g1a g1 1 J+ft feeut &1 ufew
ﬁmgﬁaﬁﬁqaﬁﬁqwﬁwﬁﬁﬁﬁmaﬁm‘ $U Y IR Hdl 8, TTe Jd7Td aA
PO |

Statements: /PY:

All windows are doors./ It fv@?bﬁ)‘m Wﬁ %

All buildings are doors./ it E'H'Rﬁ m@f %

All doors are boats./ Tt g¥a 19 §

Conclusions: /o

I. All windows are boats./ Tt %@ﬁﬂ'ﬂ qﬁ%

I1. All buildings are boats./ Taft ?FI'R?I ﬂ'l‘d%

III. Some boats are doors./ﬁﬂﬁmﬁ g

1. If only conclusion I follows /qﬁmﬁﬁb—ﬁl SFETUTW%

2. If only conclusion I and III follow/af¢ dad sy I 3R 111 &WW%
3. If only conclusion II and III follow /3f¢ %ad fAsy 11 3R 111 WW%
4. All follow/ Jt TR #%d &

Correct Answer :-
« All follow/ T+ 3FaRUI Hd §

30) The computer which works on discrete data is:/ FRTR ATHSI W FH HI ATAT SR Hadrdl

&
1. Digital Computer/ f&fSred e
2. Hybrid Computer/ BT3fsg &R



3. Analog computer/ TN SR
4. Dell computer/ S& HTR

Correct Answer :-

« Digital Computer/ f$fored e

31) Find the correct pair:/ gt qH 3%
1. IUDs- Cervical caps/ IUD-9afsehd &Y

2. In vivo fertilization-ZIFT/ Sfa (3 faah) FAs==-z1FT

3. Intro cytoplasmic sperm injection- IUT/ 3fcRT HIRTHIESH YHIT] AT (ST W ITHS TH FolaR)-
IuT

4. In vitro fertilization- Test tube baby/ BIP] (g7 ﬁ?j) BLERE Wﬂ?ﬂﬁf‘{i

Correct Answer :-

« In vitro fertilization- Test tube baby/ BIE] (€Rl ﬁ?ﬁ) IBLERE Wﬁ’fﬁﬁl

32) The germinal period occurs:/ SHfA® 3aft w9 gt %:

1. When the fetus becomes viable/ T& My fRIg Sfta-em B T 8
2. Two weeks after conception/ YR F &I g dig

3. 6 months after conception/ THYRUT & 6 HTE dIC

4. Before conception/ THYRUT § Ugd

Correct Answer :-

o Two weeks after conception/ TR & & IR d

33) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fardar: frafafed uy o uyaras e ) &
TR TTYIT B AT HIT AT ?

89.988% of 699.9 + 50.002% of 999.99 - 170.015 = ?
1. 1920

2. 800

3.905

4. 960

Correct Answer :-

« 960



34) Personal Computers or desktop computers are examples of:/ PR 37033? 1 STHel 3?012?'
frad e 8

1. Mainframe computers/ 89 ThH HTCX
2. Mini computers/ T hgex

3. Micro-computers/ HTSsh! R

4, Super computers/ JuR HHCR

Correct Answer :-
« Micro-computers/ TSI HEE

35) Combination of the best features of both digital and analog systems is:/ feforeaa QT-H?IVFT
S yomferaY &1 et affryor

1. Hybrid Computer/ BTfa€ HTIx
2. Analog computer / TATNT HEX
3. Dell computer / S HHL

4. Digital Computer/ f$fSied dgex

Correct Answer :-

« Hybrid Computer/ B2fsig HER

36) Select the correct order of periods of prenatal development:/ Wa-Ud fa®Td #1 @Ry &1

g P iﬁr

1. Germinal-embryonic-fetaIN‘TW—H\UT-UITGT
2. Embryonic-fetaI-germinaI/Q{UT-iTﬂ-T\_rf-W

3. Germinal—fetaI—embryonicﬁi’rfﬁﬂv'—m-ﬁ—‘liw
4, Embryonic—germinaI—fetal/?;LUT—GFFW—‘T?-hf

Correct Answer :-

. GerminaI-embryonic-fetaI/G?%-k[UT-m-fo

37) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & uyars e (2) & ®=F
R T B AT /I ST 2

675.456 + 12.492 x 55.671 =?
1.1971
2.1071

3.1171



4.1371

Correct Answer :-

« 1371

38) Which of the following has discoidal placenta?/ﬁ'ﬂﬁﬁ%wm&m
UTIT 7T 32

1. Rabbit/ @I
2. Deer/fgR0T

3. Sheep/ﬂ?gvr

4. Pig/g8R

Correct Answer :-

. Rabbit/ TN

39) Find the single discount equivalent to a successive discount of 20%,

15% and 10%./ 20%, 15% 3R 10% @ &< HHNTT Fel &b SRTaR TH Je F1d DTl
1. 52.6%

2. 45%

3.42.2%

4. 38.8%

Correct Answer :-

40) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ =T fFrafaf@a urg aré &1 eagde® sreaa #= - fag me uy
& I qifergl

Yearly expenditure of a family on different items / faftra el R Wﬂﬁ?ﬂ'\' Caj
e =g



Education/

foem, 15%
_\\f.\ Food/sNa, 25%

Miscellaneous/

fafae, 10%
Saving/¥9d, 5% Petrol /AT, 10%
HOUSS Sant/ T Clothes/®qz1, 10%
g, 13%

Travel/ars, 12%

If total expenditure of family is Rs.1,70,000 per year, then how much does
he expend for house rent per month approximately? /tri%ul%mftrhaw Pl Pd
T4 9 1,70,000 B, a1 Ufd AT TR & A R TUT fova—n @ 82

1. Rs.22,100/%. 22,100
2. Rs.20,000/%. 20,000
3.Rs.1,840/%. 1,840
4. Rs. 2,000/%. 2,000

Correct Answer :-

« Rs.1,840/%. 1,840

41) Kanya Vidya Dhan Programme provides fund for:/ =T fae o= srdeH fea
®1d & T 4 Iuersy ST 8

1. Marriage of girls/ @W%ﬁ@%’

2. Education of girls/ @&l &1 e
3. Feeding of infants/ Mﬁ% SIEIR
4. Birth of girls/ dsfpdl & o

Correct Answer :-

« Education of girls/ asfordl ot e

42) Learning without burden was the report of:/ Sig1 fa=r srftrm (@fH fagrse
TSH) ot feaid ot

1. Kothari commission/ BRI 3TN
2. Chattopadhyaya commission/ dgIUTemd AN



3. Dr. Yashpal Committee/ SI. I=GTA TfHfd
4. None of the above/ SWRIad | J ®Is gl

Correct Answer :-

« Dr. Yashpal Committee/ 3. IR AT

43) According to Erikson the most important crisis faced by adolescents is:/

TR F R, PR F G oM aren 9w HeAyUl 99e &
1. Identity confusion/ Ugdld YH
2. Physical growth/ IRIR® g

3. Parent adolescent relationship/ fHRIR BT AT ¥ T

4. Peer pressure/ it T efl 1 gara

Correct Answer :-

« Identity confusion/ Ugdld YH

44) The full form of DIR is:/ DIR &I T 919 &:

1. Domestic Intensive Report/ @ﬂmgﬁaw ('aiqw:r ﬁ’tﬁ?f)
2. Domestic Inner report/ 3MAREH R RUIC (R 31 RUIc)

3. Domestic Incident Report/SHAReH gTac RUIE (B ge1 Rare)
4. None of the above/ IWRIad H ¥ &g -Tg!

Correct Answer :-

« Domestic Incident Report/@qmmw (‘EQT:_L‘EIE:IT f{cﬁ?f)

45) The difference between the compound interest and simple interest on a
certain sum for 2 years at the rate of 10% per annum is Rs.200. Find the

principal (in Rs.)./ 10% d1fY® sarel &1 &3 | gt aul A U gaud R Wi sarel 3R
TIYRUT TS BT 3fdR T 200 B gau= (FW #) 71 P

1. 16,000
2. 25,000
3. 18,000

4. 20,000

Correct Answer :-

- 20,000



46) The price that is announced at the beginning of the sowing season is

called:/ S13E & THIH A IRY & g Saa $t gryon i wirdt @ 98 FHeard 8
1. Issue price/ ﬁﬁﬂ&?ﬂ

2. Fair price/ 3fed g
3. Market price/ dINR I

4. Minimum support price/ Wﬂﬂ?ﬁﬂﬂ\?ﬂ

Correct Answer :-

« Minimum support price/ leﬁlﬂfﬂ

47) The first Panchayati Raj’ in India was introduced in the year:/ YRd #
AU Ut I B YHATT 59 99 §5:

1. 1957
2. 1958
3. 1959

4. 1960

Correct Answer :-

« 1959

48) By selling 8 pencils, a shopkeeper gains the selling price of 1 pencil. The
gain percentage is: /8 URd 991 W TP gHTHeR B 1 TRTa & fIera Teg & aRTaR 31
T BT 81 1Y &1 ufaerd &

1. 9.09%
2.11.11%
3.14.28%

4.16.67%

Correct Answer :-

e 14.28%

49) Majdoor manzil is the concept started in the:/ nangrﬁmarq'%rmnaﬁ
e arTd frafafea o g3 ot

1. Sevagram experiment/ LEIPIERC LIk
2. Nilokheri experiment/ ;ilc"ﬂ@él TN



3. Marthandam Experiment/ i< yanT

4. Gurgaon experiment/ T&Td YA

Correct Answer :-

« Nilokheri experiment/ :ilélﬁél TN

50) Count the number of triangles in the following figure./ =% 3mefa | ﬁl’l;[\‘rﬁ'
P AT T B |

1.8
2.10

3.12

4. None of these@ﬁ q aﬁéq‘aﬁ
Correct Answer :-

« None of these@ﬁ@fﬁ"ﬁ:ﬁ

51) In SGSY, the ratio of funding by the centre and states was:/ SGSY A Hgg
ST GIRT W& BT SUTe UT:

1. 25:75
2.50:50
3.75:25

4. 80:20

Correct Answer :-

e 75:25

52) Slides are prepared in:/ XI5S sﬂ'ﬁ R F} S %
1. MS-Word/ THTH-a8

2. MS-Excel/THUYH-URT

3. MS—Access/QTIW—QEI@G

4, MS-PowerPoint/ THIH-UTR WEc



Correct Answer :-

« MS-PowerPoint/ THUI-UIGR Wigc

53) Which one of the following options is/are not true? / 9 & ¥ ®99T fagey

LK

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ fe=g STRINGR 3ifATH, 1956 dfedl oI U Tgad fgg uRarR 4
$ad SifdpT o1 RBR AN Il &

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / fgg STRIY®R W=NeA HfAIFTH, 1956 & gRT dfeal
D1 3O YTSA & 1Y foRId &1 ABR waH fovar

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 will however won't be applicable for the Amendment / 2015 A

I H1E 3 78 Farar o1 {59 sfedt & frar &1 9g Riawer 9, 2015 & gd g3 8, 98 39 G2ed
SR UeH fobd U 3RpR & Taied et §

4. None of these / G‘@Hﬂﬁéqﬁ

Correct Answer :-

« None of these / G‘@Tﬁﬁ'ﬁﬁ'ﬁ

54) Which one of the following diagram represent the relationship between
Rhombus, Quadrilaterals and Polygons?/ o dd oF @ W alT?fﬁl, H‘H‘tlﬁ'l;fﬁ,
TgUS R TgYS & Ueg TG DI gRIidl 82

———— i

4, -

e

———————

55) What is a teratogen?/ LU (é?'l?:ﬁﬁq) Cul) %?
1. A measure of prenatal activity/ Wt{qc Tiafafy &t ww A



2. A physical deformity caused by harmful substances transmitted through the placentas/ TG & Aremy 9

TAIRA §U BTHHRS UGl & HRUI IUH g5 DIs IRIND [APicl
3. A layer of the embryo/ ‘{UTEI%WU?\:

4. Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./ Dl
Tole S IS T Iy I HR Gl § A1 AIeR YT T Jaiedt R IR FoRIeTS THE SId qabal
gl

Correct Answer :-

» Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./
HIS TOiC SN Plg ST I U HR Thdl ¢ A1 AR 3HYal T Taeh uRoumdf )R TGRS gHTd ST
FHar gl

Topic:- Grad_Managerial Skill

1) When encoding the message, which of the following may be overlooked?/ TR HT HIs
(TADIET) Fd TG 370 | B -ToR 3T gl TPl 22

1. Language/ HM™T
2. Symbol/ Udid
3. Sign/ dahd

4. Table/dTfereT

Correct Answer :-

o Table/dlcrapT

2) Which of the following theories subscribes to the view that a shared culture is necessary if a

society is to run smoothly?/ 3T J ®1H-9T g 39 faaR &1 qudq wvar 3 % Jue &) gas én
¥ g™ & I Are Wepla g1 SaRa® 82

1. Marx/ RS
2. Mead/ #1s
3. Weber/ d&R

4. Durkheim/ ﬁq

Correct Answer :-

« Durkheim/ g&H

3) Which of the following is the element of difference between community and society?/ ?Fl'el |
DI IS IR TATS & 9 & IR BT 4P 82

1. Definite locality/ IEPER Rﬂ:ﬂTIFIT/@I?T
2. A group of persons/ el &1 g

3. Likeness of interest/ Tfal & THFT



4, Sentiment of oneness/Ud sib‘l's: Eﬁ%{ CARYIGEI

Correct Answer :-

« Definite locality/ fA=ad SFHad/=d

4) The concept of “role” in sociology refers to /) HHTSIRIE | "ﬁ-‘[&ﬁﬂ“ P SYURYT BT 34
a2

1. Position aspect of the individual/ fdd &1 Te/fRufd Tra=h g
2. Static aspect of the individual/ Sfad &1 Wfd® Uge

3. Behavioral component of status/ %ﬁlﬂﬁ D HdER T e

4. Normative aspect of behavior/addgR &l AH®T Ugq

Correct Answer :-

» Behavioral component of status/ eRrad &1 saggR Tref ues

5) Sociology is the study of:/ HISRIIRA __ T I %I
1. Socio-political institutions/ AT -IoT e TeIT3

2. Political system/ JSTfde o

3. Human behavior/ HIFMd HdgR

4. Society/dHIST

Correct Answer :-

» Society/IHIS

6) Michigan Leadership studies are based on the following approach to the study of leadership:/

RN Ag@ vrTE, Aqd & g F {5 vgfa W snula @2
1. Trait Approach/ T&0T TGid

2. Attitude approach/ a91 ggfa

3. Behavior approach/ dgR UGid

4. Situational approach/aRiRUfdS= TG

Correct Answer :-

« Situational approach/aR TS Tgfa

7) Social insurance includes:/ ImHIfo® ftar & e @
1. Pension/ BRI

2. Unemployement/ RIS



3. Disability allawances/ 3{Rladdl i)
4, All of the above/B'CPE[HH Tt

Correct Answer :-

« All of the above/3udad Tt

8) Which of the following is not a stage of the communication process?/ ERL| ¥ S FAR ufspar
P TS T 81 82

1. Feedback/ Bgad (FFARM)
2. Encoding / ®1e- (TAHIGT)
3. Channel selection/ TRt (aﬂ?f) g

4. Recipient/gTied!

Correct Answer :-

. Recipient/m?lav_cﬁ

9) The term sociology is coined in the year?/ SHISRI & 3%l Wee ARSI B gy i
QT T T

1. 1798
2. 1829
3. 1839

4. 1818

Correct Answer :-

» 1839

10) Sociology is a science because it:/ JHIGRIE TP ICEIE] % Fife Jg___ :

1. Uses systematic methods/ gty Ay &1 IuanT Hrl %

2. Is a social change/ T& IS URad g

3. Considers finding tentative until verified/ =BT & da g 3FFIH AT § O1d T 3T IATI- 7 81 ST
4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+t

11) Which of the following is not a perspective of communication?/ ERCE] P AR BT Uh
uRiied 181 82

1. Critical/ ifd®



2. Modern/ 1Y
3. Post-modern/ 3TYAd-TLTd

4, Democratic/ISTdiA®

Correct Answer :-

« Democratic/USTdiA®

12) Language is important to society because:/ JHIS & ﬁl‘Q HIHT Tlga'llﬂf % Fife:

1. It makes social contact easy/ Ug JrATfoTe TP 3T ST %

2. It raised man from a savage to a noble being/ n—g’waﬁ Y WQWWWWW%

3. It is an invention of society/ T8 THTST &I U 3MAR §

4. It easily satisfied man’s need of expression /98 A &1 3ifNcafaT BT SMALIBT HI TRl ¥ ¥ B! §

Correct Answer :-

« It makes social contact easy/ I8 MG THH AR S &

13) ICT is an acronym for:/ ICT &1 QRT °TH f
1. Information Communication Technology/ ShTHRH HRIF®GR SaIare (T TR W)
2. Information for Communicating Technology/ 3THIHRM TR HRIFGBIT Sl (FAR Wit 8 @)

3. Information and Communication for Technologists/ STHIHRH U8 HRIADGIH HR ooy (TN iaal
GCRILEASEIN!
4. Informants of Communication Technology/3 ey 3T HRIAHI SaIaren (TR W) & JE-rerd)

Correct Answer :-

« Information Communication Technology/ 3 THR HRIAG I SaIaS (T TR Wit

14) Welfare programmes based on social policy in India are not provided in one of the sector
mentioned below:/ HRd ¥ Ao Hifa W smenfya weamr srdwy i gae 1 H d v &3 A e
T8 52 o1a &1 98 F19-91 &7 82

1. Health/ XY
2. Entertainment/ AARSH
3. Employment/ ISR

4. Education/ fref

Correct Answer :-

« Entertainment/ AARSH



Total quality management is a oriented function:/ T UrdT Ya U T Grf\‘l-l'ﬂﬁ
T &

1. People/ @M

2. Quality/ JUrd1
3. Production/ 3digd

4. None of these/stl'ﬁf I ﬁ'{f :lfﬁ

Correct Answer :-

« People/ @I

16) Which of the following is not an example of verbal communication?/ ET-I'I?[ J P Qﬂﬁﬁ/
IS TIR T TH ISV T8l 32

1. Telephone / THIB A
2. Words/ Qs
3. Writing/ TG

4, Interview/dI&Tch R

Correct Answer :-

o Writing/ ECE

17) The relationship in a secondary group is?/ EGIRED qYe W T Hr gian %?
1. Personal/ SfaaiTd

2. Intimate/ (=TT

3. Formal/ SNuies

4. Informal/ 3 TR

Correct Answer :-

e Formal/ e

18) What pair of making team decisions?/ & faofa @9 &1 -1 \‘rﬁ‘sT?
1. Lack of response & unanimity/ 3{fehaT 3R AT BT HTa

2. Lack of response & minority rule/ 3/fehaT 3R SeURRegs oW BT 31HTd

3. All votes are equal & recruitment/ I+t 7 THH § Tg Hdf

4. Feedback & unanimity/Sfagf® Td Aded

Correct Answer :-

« Lack of response & unanimity/ 3fehaT 3R AAH HT T



19) Which one of the following is NOT a principle of social group work?/ Eﬂﬁ q P IS

g &1 b1 v Ry 181 82
1. Confidentiality/ Ta=adT

2. Guided group interactions/ AFTGIRIT TG Sf=Iiohamd
3. Progressive programme development/ yifashia srdwH fae™
4. Bvaluation of the progress made by the group/dHg gRT P T TETI T Hedihd

Correct Answer :-

« Confidentiality/ THo=aar

20) The most common indicator of social class is:/ ITHIfTS T BT G 3TH Jhdad %:
1. Race/ St

2. Occupation/ a3

3. Education/ fRrem

4, Skills/®PITd

Correct Answer :-

e Occupation/ Fad™I

21) Social protection does not include:/ |G GR&M A =nfla A8 &
1. Food subsidies/ @Tel 3Mies Tgaad

2. Public works projects/ @ faToT gRaerHTg

3. Supplementary feeding/ YUR® 3TGR

4. Alms/aq

Correct Answer :-

e Alms/aH

22) Effective speaking is depends on:/ YHTAT WO R AR S=ar %:
1. Context of the oral communication / Aif8® AR & T
2. Prior adoption of delivery style / TGRRT Th & E[Ef gl

3. Absence of feedback/ Ufdgf® @ rufeufd
4. Identification of key points to put across / BSIEERSCASIE G| qea ﬁr_c\[,\?ﬁ DI UG

Correct Answer :-

« Absence of feedback/ Ufdgf® &1 srufRfd



23) The Central Social Welfare Board was established in the year:/ F=g U Hearur NS Bt
RITYT Y o ot it

1. 1980

2.1970
3. 1950

4. 1953

Correct Answer :-

e 1953

24) Social services will not include:/ IrHIfoTe Farei & - RUIE ] T-I'(ﬁ'ﬁﬁ"ﬂ
1. Care for vulnerable groups / \’rlﬁ?r&lﬁ H@WW&W

2. Care for weaker section/ 3(U&THT HHAR qaDb BT UEI

3. Care for affluent/ Y-TdTI T TREUT

4. Care for needy/SIeXdH Gl BT TREUT

Correct Answer :-

« Care for affluent/ &FaTI T T &TT

25) “A social group is a system of social interaction,” Who defined so?/ “SMHIfI® |Yg, ATHINS
SAThaT B TH YOI 37 I8 Uiy ERT & Wt <

1. H. M. Johnson/ Td. TH. SIIg
2. Marshal Jones/ RIS S

3. Bogardus/ GRS

4, Simmel/ﬁlﬂﬁ

Correct Answer :-

e H. M. Johnson/ Td. TH. Si-94

26) The performance norm defines the level of :/ ye=iq uFe F WR B gRUIfia
Il B

1. Work Effort & Attitude/®Td T Td 393
2. Attitude & Contribution Performance/ 338 31X TNTGH e
3. Constructive Criticism/ ST ® FHTARIAT

4. Contribution Performance & Work Effort/aigH UeRi- 3R o1l Uarg

Correct Answer :-



« Contribution Performance & Work Effort/ﬁ"l’q"l:f TR SR w1l

27) Sociologist describe the term ‘Group’ as:/ THSRIA] ‘"GYE’ Xeq HI ¥ & ¥ afofq
Hd %

1. Collection of people/ @Il & THad
2. People involved in organized pattern of / 3f=ifdhar & TTfdd Te-i & Taw al
3. People interacting at a place/ fordt M R 3rafdhar &2 | @

4. Participation in a gathering /f&dl T/ T HFT o

Correct Answer :-

« People involved in organized pattern of / 3f<ifshal & Tfdd Te H Ty AN

28) Field work in social group work helps to acquire:/ oIS H’{s’ﬂ?l'!f 7 aT W, 3ifofa
P T U HaTl 8

1. Knowledge/ I

2. Skill/ YIS

3. Attitude/ JaaT

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+

29) Horizontal system of communication takes place between or among:/ ¥ g 9ER
F1 Qe yorrelt Farfera a1 @:

1. Equal/ M dri

2. Superiors and subordinates/ IRE 3ffIBIRTT 3R 3refi-reif
3. Subordinates alone/ Had eNRIT

4. Superiors alone/ Hdd Ry HfEHIRA!

Correct Answer :-

« Superiors and subordinates/ AR AHTRAT 3R ey

30) What is not one of the four important Manager roles?/ 37{3['@ ﬂ'ﬁT-r, UTHP B IR H%ﬁ'l]}ﬂ'
yftrprai # @ T T8 72

1. Supervisor/ THa&® (YORATZTR)

2. Facilitator/ §HR® (WRIfdICeR)
3. Internal coach/ 3T<IR® URIe®H



4, External coach/dT&l IEEED

Correct Answer :-

« Internal coach/ 3TN URI&®

31) When culture traits speed from one society to another the process is called?/ Sid Udh TS &
IS A&7 gOR AT | dolt | ST & o 39 UfehdT & &1 HgT oIl 82

1. Assimilation/ STEHITHRUI/EGTTIhRUT (TRIFAR)
2. Diffusion/ faeRur

3. Pluralism/ GlelW/aEFl?ﬂE

4, Evalution/qcdich

Correct Answer :-

« Assimilation/ STETITIHR 0T/ BT (TRITHTIRM)

32) The book “"The Sociological Imagination” is written by:/ “q BRI IGIEDS Eﬁﬁﬁ‘\’ﬁ AP
TP J foret :

1. Parsons/ URI-YH

2. Brewer/ §3RR

3. Elliot/ Tlerae
4. Wright Mills/s¢ fored

Correct Answer :-

« Wright Mills/3Tg¢ e

33) Social rights will not include:/ I SfYPRIA =i =81 giv:
1. Child/ 5=

2. Labour/ W/HGFCR

3. Women's rights/ II'%FITGﬁ F AIBPR

4. Care for political section/JSTfdd qad BT TRET

Correct Answer :-

« Care for political section/3TSfdd dadb BT TREUT

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./f32r: faferfad e
P UFYHS YgHY I -4 33 T gglawadt wxai & w8t faved &1 9a9+1 $3|



Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥re W fIwRur 95d IR 81 Se-ie U & <X & It wigE e, Sl SR eRl | Suasy g1 fasie
THERR, T B 31 Feee TESwRI B Heg | Fe-ie A famRur forar o 9&ar 81 3ra-Sudiaansi &t
g AT A a1 WIS P Se3-Ic WAl YTl (ISP) FEd & | I, Se-ic Bl Awherdl BT Hoit g1 gi-an
WR Y YA THT B & AT e &1 Wi fobar o goar 21 3 A e, fafewn, aifgw,
AIFEdUR, FIEX, AR, Ao, e, m@wmawﬁwm%umﬁm
@Wﬁﬁ%@wﬂawwmﬁﬁmmmél a1 & @it FHRER-u, tReTE Td SR
g R IUAH 71 FISaS 3R I Hiasd gREaR Menfifear o 36 (st didh) ok 46 (At didh)
3T 9 A Fe-ie JaT $t 1fd & Aed i gfs g5 81 3T 6 9 $© Adbs! § a1 R & JUER fBa gad
Tl $etHe A Ot B TR $t Haltue Juas & e @1 31 79 g & feft it s A §-a3a
(AP AT ey 1 Jfdrafiwon s Twd 81 ¥Q F3 AT Jiredur Suasy § PFd e &
WRT Rud-ergw wexr 4% 3R UTe o I &1 g9 Bt oft Afdr Aitedur &1 Suahn s oA i oik
TrEfRT | 919 B Thd § | AT WA Aedip1 Argel W U= W B I J8 aad 81 37 iarg
B W 3 I gradd W HR Thd g1 IR AeafdhiT arse gl guRl & a1y fr argn s 3t giaer o
M €1 39 Z W B F IR 3y el & A1y R Qs # Id &1 AT dl 59 QA Aedfh T drgel
W ARS Wi W B2 @ §

Which internet browsers discussed in this passage?/ $H 3¢ A fd Fe-ic A9 31 T4f Bt
Tt 82

1. Windows explorer/ ICEIS] W
2. Google/ T[T

3. Chrome/ 1H

4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

2) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fRafafaa e
P UFYHD JgHY IT -4 33 T ggfawadt wxal & w8t faved &1 9a71 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as



Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 989 WRa 81§ AW g1 X & Wl g TTal, Sl 3R e’ A Suasy 71 faSe
THREEARR, TTA 1 AfS SevAe ATSTRI D1 Heg | Fee § faaror fovar o Jaar 81 3rd-Sudtaansif &t
geXAC T ¢ AT WIS Bl Se-ic Jal UGl (ISP) F&d 8 | YA, Fe-ic &1 Ibadl HI Hoit g1 giar
WR A FIAE THT B & AT et &1 Wi foban o aoar 81 3 g e, e, aifgw,
TIFEAUR, YR, AR, WM, firrdr, vdeq vd pradt nfafaftr @ awaffa 8 aodt 81 @ fafts
@ﬁsﬁlﬂ‘r%aﬂﬁﬁwwm&ﬁaﬁmmm%l T & §it SHEAR-1H, RS Ud sRAd
ge¥e R U g1 Aisds 3R I HiaTsd RUgR Mefiiear o 36 (At didh) oiv 46 (At didh)
3T 9M | FewHe AaT 3t 1fd & Aed i gfS g3 81 3T 76 U $° Ads! W g1 R F guER fHa e
Tl gt A Wil B TUR $ walfte Juias @ vem o1 31 g g & it M s A §-3a
(AP Al Ried &1 Jdfdrcfiewron I J@d 1 00 #3 AT Jivedur Suasy § PFA §e-e &
wfve Rad-ergw Hexr 9ot 3R e o I d 81 89 Bt oft e Aivedar &1 3uai 3 3 st 8ik
TR} | 919 FR P d &1 AR NS AeafHT dgel W v ®RA 5 A 9 9wd 81 39 Siarg
T R T I gradia ft Y Twa g1\ AeafB urge g6 gkl & ary R aren A 3t gfawr oft
T 21 89 QS W T & SR S+ el & ary Ry argn &% Id &1 ATt 59 AR Aedidb argel
W AR i Wt 73 7§

The key to success of Internet is the:/ Eﬂﬁf t JBdd Bt ﬁv_\:ﬂ %:
1. Information/ =T

2. Audience/ ERIERI

3. Television/ NICSES

4. Newspaper/JH[R-UH

Correct Answer :-

 Information/ T

3) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
P UFYED YgH? ITF -4 33 T sgfawadt wxal & w8t fave &1 9971 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This



information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

gee R fIwRoT 95 IR 81 S U &R <% & It wgE e, Hal ok ekl # Suas 31 faSiw
TFREARR, TRTA I AfS FevAe TSR] B Heg | Fee § faavor forar o Jovar 81 3ra-Suaiarsif &1
geXAC JAT & AT WIS B eI AaT YSHT (ISP) FEd @ | AT, Fe-ic &1 Ihadl BI Hoit g1 giar
WR A FIAE THT B & AT Sexie &1 Wi fohan o Ioar 81 3 g e, fafew, afgw,

T AUR, X, ATIR, Ao, e, wew vd prud nfafaftr @ wafRa 8t wadt 31 v fafi
mm%mhwwmﬁaﬂmwmél g & @it SHER-u, e Td SR
e R IS 21 Aisds 3R I HiaTsd RUgR Mefifeat 9 36 (st didh) oiv 46 (At didh)
3T oM A SexAie a1 &1 1 § Area iy 33 g5 21 9T 59 U1 $8 Sbs! 8 ghHaT WR & 9uER e awd
Tl gt A Wit B TUR $ walfte Juias A ver @1 31 g g & Rt M s A §-3a
(FAFRIMT AT Rived &1 Jfdrcfiwon I T@d §1 00 #3 AT Jvedur Uy § PFA e e &
TNT RUd-ergy Hex1 4 3R UTE o I &1 g9 bt oft Afdr Aitedur &1 Iuain o o= i oik
Trafral A 919 HR Thd 81 A WA Aeaf S "gel W = WA A A 98 aod 81 37% ifargd
B IR 3 399 qTadid ot Y Ao | TIRIE Aeafd i arse g6 guRi & a1y o argn w7 3t giawr oft
0 21 89 BE W N & IR S+ sl & ary R argn &% Id &1 AT @t 59 W Aeaib argel
R RS e +ft 2 38 T

Which information is collected from around the world?/ gﬁm R Y HA- GCRLIEE] P Wit 82
1. Education/ frenm
2. Medicine/ afear

3. Literature/ ?IT%RI
4, All of the above/B'CPQ[HH it

Correct Answer :-

« All of the above/3udad Tt

4) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ-Ii’ﬂT: frrafafad e
P ATYEP YgHY 39P - fed T4 agfawed! =l | ual fawey &1 a9+ +¥|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world



are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥e W fIwRUT 95 IR 81 S U & % & It ugm 7iial, el ok e’} # Suas 31 fasiw
THARR, T B 31 Fee TSR B eg | Fe-ic H fawRur forar o Aear 81 Sra-Suaiaansit &1
$e3AC JaT &7 AT WIS B eI AT USHAT (ISP) FEd @ | AT, e+ &1 Ihadl B1 poit g1 giar
WR Y YA THT B & AT Sexie &1 Wi foban o Ioar 21 3 A e, fafes, aifgw,
AIFEAUR, FHLY, AR, AR, e, mwmﬁwﬁﬁmﬁﬁmﬁaﬁm%l?ﬁﬂﬁﬁm
@Wﬁﬁ%@wﬂﬂwwmﬁaﬁmmmél g & @it FHRR-u, e Td SR
ge¥e R IUA B Hisds 3R I9d AiaTsd RuaR Mefifear 9 36 (st didh) o 46 (@A didh)
3T M | $exAe a1 &1 1 § Area iy 33 g5 21 9T 896 U1 8 Adbs! 8 ghHar WR & wureR e awd
F1 gee A It B FaR 9 Taifte Auarae A yem @1 31 79 g & e M s A d-aa
(AP AT Rivey 1 Jfdrcfiewon I Twd 1 ) #3 AT Jvedur Iuasy § FFd e &
WNT Rud-ergw weRr 49 3R UTe o I &1 g9 Bt oft Afdr Aitedur &1 Iuaht w3 orm i oik
TERAT | 97 $ TPHd 2 | G WA AeafdT Agel W o RA 6 A I I@d §1 37 SAi-ars
B W 3 39 gTadtd W $R Thd ¢ | IR Aeafdh T aIse gl gunl & a1y o amgn w3 3t giaen o
T 21 9 ZH W BN F IR 3= et & A1y R Qs # Gda &1 AT df 39 QA Aedih T drgel
R e e ft w3 3 2

What is the full form of 3G?/ 3G HT GRT ATH FT 8?2
1. Three generation/ 3 SFRRM (i Uigh)

2. Third generation/ ¥$ SRR (KT Tie)

3. Third group/ 43 JU (T T4E)

4. Three group/&ﬁ g (Fﬁ? aig)

Correct Answer :-

» Third generation/ Y3 TARTH (Fﬁﬂﬁﬁ?,ﬁ)

5) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi"\’l: fFrrafeafad e
P AFYED UgH 39& -1 33 T4 sgfamadt w=at # Odt fowew &1 997 31

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about



the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥re W fIwRor 95d IR 81 Sex-ie U & <X & It ug iial, Hal ok eRl | Suasy 31 faste
THEARR, T[T B 31 Feee TSR B Heg | Fe-ic H famrur forar o gear 81 3ra-Sudiaarsif &t
$exHIE Tl ¢ T WS BT Fex-Ae Hal Vel (ISP) Fed & | GaHT, Sex-ic B Awadl &1 poit gl giar
WR Y YA THT B & AT et &1 Wi foban o goar 21 3 A e, fafew, aifgw,
TIFEAUR, FIEX, AR, TR, firrdr, wdeq vd pradt nfafaftry @ wwafRa 8 wwdt 81 @ fafis
@Wgﬁﬁ%@wﬂawwmﬁaﬂ@ammél g & @it FHRER-u, 1ReTE Td sRAw
gee W IUAH 71 FISaS 3R I HIAsd REaR Menfifear o 36 (st didh) ok 46 (At didh)
3T M | gexAe AaT #1 1f § Area iy 33 g5 21 9T 89 U1 9 Abs! 8 AT WR & ureR e aea
g1 getme A Ol B TR $t Haltue Juas U e @1 31 79 g & feft ot s A §-3a
(AP AT ey &1 Jfdrcfiwon e Twd 1 ¥Q +3 AT Jivedur Suasy § PFA §ee &
WRT Rud-ergw wexr 4% 3R UTe o I &1 g9 Bt oft Afdr Aiedur &1 Iuaht #3& oA e ik
TrEfRl | 919 HR Thd § | AT A Aedi b Aigel W U= W I I J8 @d 81 37 Targ
B W 3 I gradd W HR Thd &1 IR Aeafdh T arse gl guRl & a1y fo argn s 3t giawn o
M 21 9 ZH W B F IR 3y et & A1y R Qe # Tod &1 @ dl 39 QA Aedih drgel
W RS Wi W B2 @ 7

There are many that can be used to send and receive real-time messages over the

internet:/ T HS____ IUAY g oY $ex-e & WINY RAd-21gH A= Het 3R 1Y o 9o &
1. Chatting software/ T TiteamR

2. Grouping software/ T TitedaR

3. Internet software/ $c3-c ACITR

4. None of the above/IWRIad ¥ A IS g1

Correct Answer :-

« Chatting software/ TféT TTredR

6) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
P UFYHD YegHY U -4 &3 T ggfawadt wxai & w8t fave &1 9a9+1 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all



the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

geve W IR 959 WRd 81 $eA¢ AW g1 X & W g T1Tal, Sl 3R e’ A Suawy 71 faSe
THRARR, TTA I AfS Seve ATSTRI B Heg | Fev-ic § faavor fovar o Jar 81 3ra-Sudiansif &t
geXAc JAT ¢ AT WIS Bl eI Aal UGl (ISP) F&d @ | YA, Fe-ic &1 Jbadl HI Hoit g1 giar
R Y FIAE THT B & AT et &1 Wi fohan o aoar 81 3 A e, e, aifgw,
TIFEAUR, YR, AR, HAReH, fierdr, vdeq vd prad nfafaftr @ awaffa 8 wodt 81 @ fafts
@ﬁm%éﬂﬁﬁwwmﬁaﬁmmm%lgﬁm%mﬂww UA®TE Td SRAA
gee R IS 21 Hisds 3R I HiaTsd RUgR Mefiieat o 36 (st didh) oiv 46 (At didh)
3T 9M | FewHie AaT Ft 1fd & Aed i gfS g3 81 3T 76 U $© Adbs! W g1 R F guER fHa awd
Tl gt A Wit B TUR $t walfte Juias @ vem o1 31 g g & it M s A §-a3a
(3T~ AT Rew 1 vférafiewon de 9@d 81 T &3 T Jreams Iuasy § A see &
wfve Rad-ergw Hexr Wt 3R UTe o I d €1 89 Bt oft e Aivedar &1 Suai 3 v st sik
TR} | 919 HR TP d &1 AN NS AeafdT dgel W v ®RA 5 A 9§ 9@d 81 39 Siarg
T R T I araddia ft Y Twa &1\ AeafB arge g6 gkl & ary R aren A 3t gfawr oft
0 21 89 QE W & SR S+ el & ary Ry Argh &% Id &1 ATt 59 AR Aedidb Argel
W AR | ft 77 TR E

How can the people connect with old friends?/ @I g?ﬁ i 3 & s Hhd 8?2
1. Social networking sites/ I Aeafd HI%?.P[ I

2. Social teaching site/ e AT Fﬂ's;@f T

3. Social learning site/ e AT HB?[ J

4. All of the above/ Judad Tt

Correct Answer :-

« Social networking sites/ TIRId JeafhT Tgel d

7) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
B AFYAP TgH IqP A &0 T ggfamedt uzHi | w6t fawer &1 99 $1|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers



give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEIR-UF ATHG-S1fd B) GEu1 9049 & nfaspR & [y frar g 7e iR Suaifl SueR 81 [HER-
U e Y IR & | SR Gl ¢ | I8 S g1 b1 geTe & IR A Jiud vEdl 81 98 599 Fel
3 81 98 Ue AfFa=Imell SHUTUR A1ead 3R U TRl 9 81 U8 I &1 WP 3N AFARGRI
Td Ta-adl &1 U8 81 39 3 Hid & g off v faran o wavan 2 SR ¥ &1l & forw oft1 s fam) &1
are® 21 Te faar), Rigr), 39 W 1 i fewforat &Y amar 8, W Rl @i ok 391 wfafaftrat &1
THIATET Hdl 8| T8 S Hd $T U TR 3aud 81 T FRUI § fF g S-a1 &1 Taa-dT 8 | JHER-
T3 gUR @ SitaeT &7 Sifid 3T 991 g% &1 THR-UF 89 gUR oX 3R fadmi & IR A i R &
THRER A1 8 | HAER-TH] &7 UIe® JIaui—e ATHA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
39 AT Bar g 3R S/ T IR} LAY Ue™ Hdl | THER-UF Ug | 79 &1 e a1 31 399 86
W T Tieil SR AP RY & TR W o9 Thd &1 T8 g8 guI SARBRI 3R SAHT JR&m $A o3 @
U6 IR | W TaTaT 81 399 79 W 33-9¢ Wt 9 wwa € % g o w3 ve1 31 wHeR-u | &Y
g & Wl fafim Y 3 Wk & waar 81 A sroet axg e 3t fast oM & fore waremR-wEt o
faqTo= < €1 9 SRRR-uEl § 99R @1 Rl gt §, S99 araiial o fafie e’ | avgei & e
THIAH WA A Heg et 81 JureR-ux aifife faua, @, wanei vd wita & ar § 3R IRl @A ¢
& R Y F1 31are Wt RIS Fear 31 FAR-UF &1 Fafia ures e areal & 9R § e 9RT 94
i #X TP 81| THRIR-UF HeH AR 3R arifAe! & feR a0 9@ a1 §1 3 59T &1 PR 3a &
3R I ufafafRra & &

What was invented with the help of printing machine?/ gUl =T #1 erar § feae snfaser
forar war ur?

1. Radio/ &3l

2. Television/ ISR

3. Newspaper/ JHRIR-UA

4, All of the above/B'CRiTﬁ it

Correct Answer :-

» Newspaper/ THRR-UA

8) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi’QT: frrafafad e
P AFYES UgHR 39F -1 33 T4 sgfawpad) u=al # Odt fowew &1 997 31

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market



reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTEAR-UF UG-G B1 GE0T 9049 & faspR & a1y frar I 7g iR Suahil SugR 31 JHraR-
T fed Y IR & A SR TGl 31 I8 S g Bl geTe & IR A giia vadr 81 98 59 Bl
3P 31 Ug U AfRI=ITel SRR Aeaw 3R U TRl 96 1 98 Tod BT WP 3R WA USRI
Td Wl 1 U8t ¥ 39 33 ®1d & g ot waiT forar S W @ ok g wrd & forg it a8 famry &1
P 8| 98 faar), Rrgr, 39 W 31 Tft fewforat &t Barar 8, WeRY, @ ik 991 nfafaftay

Hdl 81 T ST PT UP fHRIRATEN 3aqd g1 T8l R ¢ fF ag o1 &t Wadr 8 1| GHER-
T R e Sita &1 AT ST 991 9% ¥ TUAR-TT g0 gAR S SR fidmi F R A it vk &
TUTER a1 8 | GHER-UH $T UTe® JTdei-1e ATHA & TUS H Igal 8 | HER-US J9 &1 &3 rarsi o
39 AT Bar € 3R S T IR FEAE Ue™ FRT 8 | THER-UF U | 79 &1 e gia1 31 399 86
it Tt Wil SR SfIshRY & AR ¥ oI 9dhd &1 T8 89 TAR SIUPRI 3R P! JRET F H-1 @
39 IR | o TaraT 81 399 79 W 33-9% Wt 9 wwa € 7% g o «n 3 w1 31 wHeR-u a6
g & @ift fafis i1 @ awgd | wadr g1 aur st axget @t faw! gem & e saeR-w o
faeTe 33 31 9P THER-uA § TR 1 Ruid {1t ¢, s sl &t fafte el A avgell & qe
THIAM T H Hee el 81 TRER-u= uifife faual, @), samsi vd ifa & T # 3R IRt gEAe &
SR Y 1 3mare Wt RpiS Fear 81 FHER-uF &1 Frafia ures ardwife el & aR § &) 9T 94
3fofd H TFHar 81| THER-TF A farR®! iR eRifAe! & fauR g0 @ @ 81 3 9H9d 3 3MPR 3d &
3R 39 ufafafa s3a §1

What is newspaper said to be?/ GHRR-UA P T HET 1T 872
1. A powerful media/ T SIfadTel HTEH

2. A useless media/ T S{UaNT q1eqH
3. A boring media/ T& ~TRY ATEH
4, All of the above/ G“q?i'cﬁ vt

Correct Answer :-

« A powerful media/ T IfeaRelt ArenH

9) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi’QT: fFrafafad e
P AFYED UgHR 39& -1 33 T sgfamadt u=al # Odt fowew &1 997 331

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market



reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-UF AHG-1d & g0 B9 & nfasepR & ary fer gad #gM ik Iwaifl SugR 81 qurER-
T AfeR BT SUGRT & A R @l €1 T W gra1 Y weisit & IR # e Tl 81 TE T6 B
3 81 98 Ue UfFa=Imell SHYTR ATeAH 3R UH YR 9 81 98 T BT WD 3R
@ﬁmmu‘b‘ﬁ%lsﬁa@mﬂ%ﬁmmmﬁmmm%aﬁvﬁmﬁ%fmﬂmwﬁmﬁm
P ¢ | 98 faar), Rrgr, 39 W 31 Tft fewforat &t Barar 8, WeRI, @ ik 9! nfafafRmay

Hdl 81 T ST PT UP fHRIRATEN 3aqd g1 T8l R ¢ fF ag o1 &t Wadr 8 1| GHER-
T R e Sita &1 AT ST 991 g% §1 TUER-UT g gUR W SR fadmi F IR A it yer &
TUTER a1 8 | GHTER-UA T UTe® JTdei-1e ATHA & US § Igal | HTER-US J9 &1 $3 rarsi o
39 AT Bar € 3R S T IR FEAE Ue™ HRdT 8 | THER-UF U4 | 79 &1 e gia1 31 399 86
it Tft Wit SR SfIshRY & A W oI Udhd &1 T8 89 §AR SIUPRI 3R P! JR&T F H- 7
9% IR | o TaraT 81 399 79 W 33-9% Wt 9 wwa € 7% g & «n 3 w1 31 wHeR-u a6
g & @ft fafis i1 @ awgd | wadr g1 aur st axget @t fawt gem & e saeR-w o
fammo 34 €1 9 THER-wE # e o Rl gl €, s il #Y fafte el § avget & ge
THIAM T4 H Hee et 81 TRR-u= uifife faua, @), sansi vd wifa & T # 3R IRt @A &
%ﬁwﬁmﬁmmélwwmmmmmé?aﬁﬁﬁmm
Sifola X THar 8 1| THRR-UF 7 AR ok qRif®! & faar 890 a@ @d §1 3 S Ud & PR Sa &
3R 39 ufafafa s3a §1

Newspaper is avehicleof  :/HHRR-UA___ HIdlgd %:
1. Picture/ fUa=R

2. Thought/ ICEIR

3. Money/ Y4

4, All of the above/B'CRiTﬁ it

Correct Answer :-

« Thought/ faaR

10) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi’QT: Frafafea
TR 1 EWHYAP TgH: S A fed T ggfawed! uxl o 9t faweq &1 797 H31

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. It is much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market



reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-UF AHG-1d ® o1 T=A9 & nfaser & ary far gad #gH ik Iwaifl SugR 81 quER-
T AfSR BT SUGRT & A T @l €1 T I gra1 Y weisit & IR # e Tl §1 TE 76 B
3 81 98 Ue UfFa=Imell SHITR A1eAH 3R Uh YR 9 81 98 T BT WD 3R
@ﬁmmu‘b‘ﬁ%lsﬁaﬁ}mﬂ%ﬁmmmﬁmmm%aﬁv@mﬁ%mﬂmwﬁmﬁm
P 8| 98 faar), Rrgr, 39 W 31 Tft fewforat &t Barar 8, WeRI, @ ik 9! nfafafkay

Fdl 31 T S PT UP RIS 3aqd g1 I8! R ¢ fF ag oiar &1 Wadr 81 GHER-
T R e Sita &1 AT ST 991 g% §1 TUER-UT g gUR W SR fadmi F IR A it yer &
TUTER a1 8 | GHTER-UA T UTe® JTdei-1e ATHA & US § Igal 8 | HER-US J9 &1 o3 rarsi o
39 AT Far € 3R S T IR TEAE Yo HT 8 | THER-UF U4 | 79 1 e gia1 31 399 86
it Tt Wil SR SfIshRY & A o oI Udhd &1 T8 89 TR SIfUPRI 3R P! JR&T HA H- 7
9% IR | ff TaraT 81 399 79 W 33-9% Wt 9 wwa € 7% g o «n g w1 31 weeR-uA a@n &Y
g & @ift fafis i1 @ awgd | wadr g1 aur st axget @t fawl gem & e saeR-w o
fammo 34 €1 9 THER-wE # e o Rl gl €, s il oY fafte el § avget & ge
THIAM T4 H Hee Al 81 TRR-u uifife faua, @), samsil vd Wifa & T # 3R IRt gEAe &
%ﬁwﬁmﬁmmélwwmmmmmé?aﬁﬁﬁmm
Sifola X Thar 8 | FHRR-UF 7 fAaR®! 3R qRife! & faar s90 a@ @ §1 3 S ud & PR ¢a &
3R 39 ufafafa &3 §1

The reader of newspaper remains in touch with 1/ THTER -3 &1 UTSH ¥ U o
@A

1. Peoples affairs/ @Il & AT

2. Public affairs/ oI AHA!

3. Parties affairs/ miéat & Ama

4. None of the above/STRIad & § 15 Tal

Correct Answer :-

« Public affairs/ T AMHAT

11) DIRECTIONS: Read the passage and answer the questions that follow./fadsr: fRafefaa
TR $ ATTYEP UgHY 39> - e T4 agfawed! w=al # 9gl fawew &1 a4 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their



goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-U AHG-S1fd & g1 709 & nfaseprR & ary far gad #gM ik Iuahfl SusR 81 quER-
3 afed Y It & A SR T@dT 31 98 S99 g 1 geATe & IR A gRia vadr 81 98 599 Fel
e 81 98 Ud fFa=Imell SH¥AR A1ead 3R U AfRIRITeN 9 81 98 I BT WP 3N AFATRIGRI
T Tl &1 U8t 81 39 o did & g off v fara < wavan @ ok ¥ o1l & forw oft) o famri &1
P 81 g8 faary, Rrgr, 39 W &1 Tft fewforat & barar 8, WeRY, @ ik 399! nfafafRtay
TUTARAT HdT 31 g 59 T TP TR 3aqd g1 I8! R ¢ fF a8 oiar 1 Wadl 8 | JHER-
U3 §UR ¢ Sitae &7 Sifid 3T 991 g &1 THMR-UF g0 R W 3R fdxi F IR A M R &
TUTER 341 8| GHER-TS $T UIe® JTdei-1e ATHA & U § Igdl 8 | HER-UT J9 &1 &3 rarsi o
3 Rfera wvar g ok 39 R IR FIAE UM HXdT 8 | FHER-UF UeA & I &1 fIeT giar 31 599 g9
Tt T} TSt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT GRam FA Ft §
U6 IR | W Ia1a1 81 3H9 79 W 33-9¢ Wt oI wand ¢ % gt | w1 g ¥eT 31 HHeR-uA |nn &Y
g & @l fafis i1 @ awd & waar g1 saur ot axgait @t fawt gem & g saeR-w o
fagm= 33 81 9f% THER-uA A IR @1 Ruid 10 §, $99 sl o fafte el § axgei & qe
THIAM WA H Heg e 81 TeR-u uifife faua, @), wansi vd Wia & ar # R IR gEAn 3@
%ﬁwﬁmﬁﬁmﬁm%mwmﬁw&mmmﬂaﬁmﬁ%aﬁﬁhwm
3fold H TPl 81| THER-UF HeH faR®! 3R eRifAe! & fauR g0 9@ @ €1 3 5H9d 3 3TPR 3 &
3R 39 ufefafraa #wa g1

What do businessmen advertise on newspaper?/ IR} JHER-UF § fFao1 fagmu 34 82
1. Their news/ 30+ FHTEIRI &1

2. Their views/ 310 fa=IRi o1

3. Their attitudes/ 3707 X34 &1

4. Their goods/ 3T a¥g3ff &1

Correct Answer :-

« Their goods/ 3Ot aﬁ&ﬁ Ca)

12) DIRECTIONS: Read the passage and answer the questions that follow./f3r: fFafafea
TR $ ATTYEP UgHY 39> - e T4 agfawed! w=al # 9gl fawew &1 a4 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their



goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-U AHG-S1fd & g1 709 & nfaseprR & Ay fer gad #gM ik Iuahfl SusR 81 quER-
T afet Y It & A SR T@dT 31 98 S99 g 1 gere & IR A gRia vadr 81 98 59 FEl
e 81 98 UH fFa=Imell SR A1ead 3R U ATRIRITeN 9 81 98 9 BT WP 3N AFATRISGRI
TG Wl &1 Uest 81 39 o did & g off wah faran < weran B SR ¥ 1l & forw oft) as famri @1
e 81 g8 faary, Rrgr, 39 W &1 Tft fewforat & Barar 8, WeRY, @ ik 3991 nfafafRay
TUTARAT HT 81 g 59 T U TR 3aad g1 I8! PRI ¢ fF a8 oiar 1t Wadl 8 | JHER-
U3 gUR ¢ SitaeT &7 Sifid 3T 991 9 &1 THAR-UF g9 R S 3R fgxi F IR A R &
TUTER 341 8| GHER-TS $T UIe® Jrdei-1e ATHA & TUd § Igdl 8| GHER-UT J9 &1 &3 rarsi o
3 Rfera wvar g ok 39 R IR FIAE UM HXdT 8 | FHER-UF UeA & I &1 fIeT giar 31 599 g9
Tt T} TSt ok SfIsHRI & IR T 99 THd &1 98 59 gUR ATUBRI 3R ITHT GRam FA Ft §
U6 IR | W TaTaT 81 THY 79 W 33-9¢ Wt oI wand ¢ % gt | w1 g ¥e1 31 HHeR-uA ann &Y
g & @ift fafis a1 @ Twd & waar g1 aur ot axgatt @t fawt gem & g saeR-w o
faqm= 33 81 9f% THER-uA A IR @1 RUid 910§, $99 sl o fafte el § axgei & qe
THIAM WA § Heg e 81 TeR-u aifife faua, @, wansi vd Wia & ar # R IR gEAne 3@
%ﬁwﬁmmmmélwwmmmmm%aﬁﬁhwm
3fold H YPpdT 81| THER-UF HeH faR®! 3R eRifAe! & faur g0 9@ @ €1 3 5H9d 3 3TPR 3 &
3R 39 ufefafraa #wa g1

Newspapers give a lot of information about religious topics and 1/ THTER-uF enfife faway
M_ FINARIN GEAE A &:

1. Sports/ @T’I@

2. Arts / 3T

3. Music/ Gid

4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

Topic:- Grad_Child Care and Education

1) Special teaching methods, special materials for teaching and specially
designed classrooms or playrooms are used to meet the unique needs of an

exception child through:/ f&aw faRiv fRrervr usfaai, faRiy Rigor amBai sik faRiw
TR A T8 B 75 Famt a1 W we fadt s 9= 3t sifgdiy smazawant gt v

1. Compulsory Education/ 3ifrard e
2. Special education/ fa=y fRem
3. International Education/ 3RS fRiaf

4. None of the above / SRiad § 9 do\lﬁr:lﬁ



Correct Answer :-

« Special education/ fa= frem

2) If you stroke the corner of the new-born’s mouth, her head turns towards
the corner you are stroking, she opens her lips, puts out her tongue and tries
to take the objects in her mouth to suck, the baby is exhibiting:/ If¢ 3mq
qauTd & Hg & 1 # TWIe B, d) ITPT R IR Y3 o1aT 8 R 30 WK $R I8 8, 98
3T g5 WiadT 8, U1 S aTex FHidTaar 8 SR avg &t 33 Gg § & T &1 W $dl &
a1 T T, Ry 7 welfa wwar :

1. Moro reflex/ ARI ufdad

2. Babinski reflex/ o=t ufaad
3. Grasping reflex/ T8l Ufaad

4, Rooting reflex/ E@Wﬁfuﬁﬂﬁ

Correct Answer :-

« Rooting reflex/ @@ ufdad

3) Which among the following is a type of Learning disability?/ fad 3=,
TR 131 T U YHIR 82

1. Dyslexia/ feaafaaar
2. Dysgraphia/ f&gumithar

3. Dyscalculia/ %ﬂ%v?g:"m
4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ IRIad IHt

4) The sex of the foetus can be determined by the end of:/ g9 m%m
yorehT o gra far i Iwar @

1. 2 months/2 HgH
2.3 months/BII'éﬁ
3.4 months/4 g
4.5 months/5 @A

Correct Answer :-

« 3 months/3 AaH



5) Which among the following is not a principle through which the Juvenile
Justice Act, the Central / State Government and other agencies are guided
while implementing the Act of care and protection of children?/ T B STHTA
3R TRV & T fparfaa Hed a0y fHR = ffemm, FERT IRPR 9 3.
TSiRTal BT ARfexia @ aren e & & #i4 figia T8 82

1. Principle of presumption that the child is guilty of committing an offence/ ¥4

THAT 1 Rigid % a1 1S SfuR1Y 3 1 Gl §
2. Principle of dignity and worth/ TRHT 3R drgar &1 fRgia
3. Principle of best interest/ TaraH fgd &1 Rigid
4. Principle of fresh start/ %QIF&HHW@!@H

Correct Answer :-

« Principle of presumption that the child is guilty of committing an offence/ 29

qAHTIAT 1 Rigid [ T HIg SIORTY H= BT a4t §

6) Which period lasts from fertilization until the time the zygote is firmly
implanted in the wall of the uterus?/ Cac k| &ﬁfﬁﬁﬁﬂﬁWNﬁﬂﬂw%
YR Ft SR W Hetuifa fRae sH a6 gdl 82

1. Period of Ovum/ 3{STY] 3@fy
2. Period of Embryo/ U1 3{afd

3. Period of Foetus/ T 3faf¥
4. None of the above/ mﬁﬁﬁﬁ:@'

Correct Answer :-
« Period of Ovum/ 37817 3{afd

7) Which among the following Act prohibits the engagement of children in all
occupations and prohibits the engagement of adolescents in hazardous

occupations?/ fFg # A &I ifufraw, Tvw saaaral A g1 & fFrafora foe s &1
Yy a1 8 3R WavATe ATl A frRl &1 Ao fee R &1 Ay wdar 82

1. Juvenile Justice Act/ fHRIR =g ifafow
2. The Child Labour (Prohibition and Regulation) Act/ aTa ¥ (MY Td ) sifafad
3. Immoral Traffic Prevention Act/ 3fAfde TR fARIy® ifafaw

4. Guardians and Wards Act/ I%&® Ud Ufdurey sifafaay

Correct Answer :-

« The Child Labour (Prohibition and Regulation) Act/ W%ﬂ(ﬁﬁﬂ@ﬁﬂﬁ) Sfffaq



8) Which among the following is a step in the process of socialization?/ fFg#

¥ S, GHTSNHRUT UFehaT &7 TP TRUT 82
1. Learning to play approved social roles/ 3{gafad QrATSSG YHHTY AU e

2. Learning to behave in socially approved ways/ IHIfS® &0 ¥ SHIfGd dRid| ¥ FdgR
BT G

3. Development of social attitudes/ ITHIN® EPHI0N &1 faH T
4. All of the above/ ITRIad Tt

Correct Answer :-

o All of the above/ IWRIFd gt

9) Which of following includes the storage of specific information, skills and
strategies that people have acquired through experience?/ g d g fead

fafRm gamrel, Fiemel iRk Fri-ifaal &1 vsrRur afffed 8, S @R sgya & uTey |
ifofa #vd 82

1. Understanding/ JeURIGa/AHSEY
2. Fluid Intelligence/ dRaATfaRITd SIRHAT

3. Crystallized intelligence/ m SISEEL
4. None of the above/ SWRiad H § &g gl

Correct Answer :-

« Fluid Intelligence/ dRAATARIE SIRLAT

10) Which among the following statements emphasizes the need and
significance of preschool education in India?/ U ® § ®19 91 &4, URd # -
qd e Bt Smaxgwdr 3R Hewd W 99 odT 8?2

1. Many mothers being themselves uneducated are not aware about the sound
practices of bringing up children, hence pre-school education helps/ 3% A WY

T B & SR ==} b1 UTeH &1 IfId faftl & sFfig €, 3rdud Tpa-yd e W B

2. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ % d-Jd a8 # fdHT & a1 did Bld ¢ [ T B SifeB1RIES
YT feu o1 I d |

3. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ YR & e 1 3R 2 H 3rafdes suedfan
T 3R B BT & o TR THdt e gRT AT I qhal 5 |

4. All of the above/ IR gt

Correct Answer :-



« All of the above/ SWRIad gt

11) The stage of learning in which the individual while performing a task
need not even think about various aspects of the task to be performed as
the task becomes self-regulated and is performed with ease, is known as:/

3frm (FEm) &1 a8 o Forad #18 1 #3A ara Aafed &1 fre oF ara st & fafay
Tegsl R faaR 31 ot Y srazasar 81 gid! e st w-fFafira g smar 8 8k emar=i
A fopan omar B, Heardn &:

1. Cognitive stage/ SUTHD TROT

2. Association stage/ Hﬁ@l*lld—lop ERLY
3. Automation stage/ ¥ddId- TR0

4. Realistic stage/ TyTfard} TROT

Correct Answer :-
« Automation stage/ XddIcl TR0l

12) Functions common to the race such as creeping, crawling, sitting and

walking are known as:/ m%mmaﬁﬁ?m, Y PHI, aB_FITSﬁ'\’EIFFﬂ,
TY Y H oM 91 &

1. Ontogenetic functions/ Wﬁl@?ﬂﬁw
2. Phylogenetic functions/ Wﬁl@?ﬂﬁw
3. Onward genetic functions/ JITaRie STIAIRIG &1
4. Organoleptic functions/ g agt &g

Correct Answer :-

« Phylogenetic functions/ STifageia &1

13) The headquarter of UNICEF is situated at:/ gf~R% &1 g&ITay fRI4 3:
1. Paris/ UR®

2. Switzerland / m

3. New York/ Q{J\I%

4. Munich/ Tgf-g

Correct Answer :-

. New York/ =gdid%



14) The Right of Children to Free and Compulsory Education Act was enacted
in the year./ ¥ & fo¢ (-3 SR ifvard fRrenm &1 iR srfiferaw fvw ad g foran
T

1. 1980
2. 1990
3. 2009

4, 2014

Correct Answer :-

« 2009

15) Sudden perception of relationship between the learner, the goal and the
intervening obstacle is termed as:/ ﬁ[&l‘[‘«‘ﬁ, a&uaﬁ?mmmﬁmwraz%aﬁa
SATHIRH JaY T, HeardT

1. Imitation/ 3HXUT

2. Insight/ Sid=f®

3. Intervention/ BHEHU

4. Instrumentation/ T B

Correct Answer :-

« Insight/ 3ide®

16) Which psychologist gave emphasis to the role of culture and social
interactions in guiding cognitive development?/ Mn-—ﬁ%srm%a‘rw
T fFdem o Swpfa ok ararfore siafiharet #t yftrer w aa faar 82

1. Piaget/ s

2. Vygotsky/ et
3. Maslow/ AT

4. Kohlberg/ ®iaa

Correct Answer :-

« Vygotsky/ STt

17) Which among the following period of development is characterized by
developing school readiness skills and most free time is spent playing with

friends?/ 9 & @ 34 faery srafy 3t fafkyar gg 8 f w@a g durt o fasfa g
g 3R srftrpi=r @relt 9wy i & 91y @« § =udia gar 82



1. Infancy/ BRG]
2. Early childhood/ 3MRf¥& STeardwyl
3. Middle childhood/ H& dTcdTdRYT

4. Late childhood/ 3R dTITdRIT

Correct Answer :-

« Early childhood/ 3MRfHe STeTa®IT

18) Nutrition and health education, under the ICDS scheme is provided to:/

TSI & i vryor SR T fRaH ver Y et 3:

1. Children in the age group of 3-6years/3-6 9% 3 Tg & S| Bl

2. Unemployed youth/ aﬁwgmsﬁﬁ

3. Women in the age group of 15-45 years/15—453ﬁéﬂﬁﬂﬂ§ﬁm&ﬁﬁ
4. All men/ Hﬂ-ﬁ@?@faﬁ

Correct Answer :-

. Women in the age group of 15-45 years/15-45 d8 31 Tg & Higalsif &I

19) Which among the following are powerful chemical substances secreted
by the endocrine glands and carried through the body by the bloodstream?/

g & @ o1, siq: wrd IRET gRT wrfad Afeaeme Imafe ugrd @ o =RR yarg gRT
TN ¥ ufvag far wirar 82

1. Genes/ S
2. Chromosomes/ TJURJA

3. Hormones/ BTJﬁ:T
4. DNA/ SLTAT,

Correct Answer :-

« Hormones/ Eﬁﬁ

20) Four main areas stated by '‘The Convention on The Rights of the Child’

includes right to:/ 'aTd PR TR & Iefd ar g1 &= § f~a siftrer wnfira @

1. Survival, Development, Protection and Participation/ StRelifddr, fdem, TReUr iR
TR

2. Survival, Entertainment, Protection and Care/ STRSIIAdT, HARSH, TR&UT 3R SIHT
3. Survival, Care, Nurturance and Love/ JITRSNIdI, SEHTH, TIH-UIY0T 3R OH




4. Survival, Care, Protection and Play/ STRSI{ddl, S@HTA, TR&UT 3R T

Correct Answer :-

[a W aN o

« Survival, Development, Protection and Participation/ STRSIAdI, AR, TRET 3R

e HTRIT

21) HIV stands for:/ TI3Tsdl (HIV) &1 314 &:

1. Human Immunodeficiency Virus/ Wsmfhmwﬁlw
2. Human Infectious Virus/ WW@[&HW

3. Highly Infectious Virus/ ast«ﬁ@rﬁﬂ&mamw

4. High Intensity Virus/ 8T8 &cic] ARy
Correct Answer :-

« Human Immunodeficiency Virus/ 8gHT 3111:] STt TRITET areRg

22) Which among the following scheme provides scholarships to persons
with disabilities to pursue higher education such as MPhil and PhD?/ ffada
DI At e, Frxeal @ waftrd ik dieeedt S+t 3= e wra w1 & e s
TSI Bl 82

1. Scheme of National Scholarship for Persons with Disabilities/ f:=red safekTal &g

EIECISEIRREIEE]

2. Comprehensive Education Scheme for Disabled Children/ f:=1ad dtcﬁ%ﬂ TaY e

o
3. Rajiv Gandhi Fellowship Scheme/ ITsiid el sfdrgfy arom

4. Inclusive Education for the Disabled at Secondary Stage/ HT&aH® WR IR M:31ad! 8q
BEICEIREII]

Correct Answer :-

« Rajiv Gandhi Fellowship Scheme/ 3Tsita it Sreddrgfy Ao
23) The full form of CARE is:/ 333 (CARE) &1 [RT - &

1. Cooperative of Always Rendering in Emergencies/ PIAIRICT 3HTH Aol IS 37

ESEEE]

2. Cooperative for Assistance and Relief Everywhere/ ®I3Rfcd Bk 3Ry T8 Reliw
LCIERN

3. Consulting Agency for Relief Everywhere/ &diect Toid! Bk Rellth TR
4. Consulting Agency for Recreation to Everyone/ &¥fecil Toid! Bk Rf$HURME ¢ Tedta—



Correct Answer :-

« Cooperative for Assistance and Relief Everywhere/ ®I3RI¢d BR ARCT T8 Raw

T

24) Reflexes, Primary, Secondary, Tertiary Circular reactions and Early
representational thoughts are sub stage of which stage of Piaget’s theory:/

wfead, waftre, fedtas, gdias geita ufafpang ik smfie ufafafie feR, e &
Rrgid & fpg TR & YR E:

1. Sensorimotor stage/ IATS/AIdGIIR® TRT

2. Preoperational stage/ Jd Wfeharaia TRUl

3. Concrete operational stage/ Hd Afharata axUl

4. Formal operational stage/ 3u=TR® Afharde @Rl

Correct Answer :-

« Sensorimotor stage/ IMTGI/AAGIUR® TRU

25) A congenital midline defect resulting from failure of the bony spinal

column to close completely is known as:/ 3R A=Y & Yuid: §¢ g+ | fawadr
Y IUF SO AEREY SV, HeardT 8

1. Cerebral palsy/ UHRIS SRTETT (T UTRIT)

2. Spina Bifida/ TER] &1 §ge! H dIc (W1 S13fhe)

3. Cerebro-Spinal injury/ Wﬂ?&r@r(@ﬁrm CARCIT
4. None of the above/ STRIGd & ¥ 5 T8l

Correct Answer :-

« Spina Bifida/ B @1 gga! § @i (WTAT d13fthel)

26) Muscular dystrophy, Arthritis, Club foot, Cleft palate are examples of:/

TP fEwiel, smREfiy, w9 pe, FTe Tae onfe frad Iarevur &
1. Neurological impairments/ dfBeg srgrdany

2. Visually impairment/ &P Taeh srgmefarg

3. Musculo-skeletal conditions/ URIG-HHAT SRTAIATT

4. Hearing and speech impairment/ 440l Ud dTd ATy

Correct Answer :-

« Musculo-skeletal conditions/ UNI-H BTl FHAATT



27) Three R’s in pre-school education stands for:/ Tpd-d f1&m & &1+ R (R) &1
GRf%

1. Reading, Writing and Arithmetic / T, feRgT 3R T1ford
2. Reading, Recitation, Reaction/ Tgl, alg<1, Uiafear
3. Reading, Racing and Resting/ Uel, E‘(EIS:H, fasma s

4. Reading, Recitation and Recreation/ UeHTl, ARG , 3R FARSA

Correct Answer :-

. Reading, Writing and Arithmetic / TeT, feramm 3iR 7iforg

28) Artificial replacement for a missing body part is known as:/ TR & f&=it
U 31T BT AT YARIYVT, FEaTdT 8:

1. Prosthesis/ W™

2. Orthosis/ 3TARRT

3. Adaptive device/ Wgﬁf
4. None of these/ 378 4 ®Is -Tg!

Correct Answer :-

o Prosthesis/ Uiy

29) Microsystem, Mesosystem, Exosystem, Macrosystem and Chronosystem

are parts of the theory propounded by / GEAYOTTER, HeAyoTTe!, afgvomel, gggyuumen
IR BTt yomeht fraras g1 wfourfea Risia & W §;

1. Maslow/ Hr=al

2. Vygotsky/ et

3. Bronfenbrenner/ S-SR
4. Piaget/ oS

Correct Answer :-

« Bronfenbrenner/ FHBASR

30) Which method makes an in-depth analysis of a client:/ ®9 Hl Ugfa, FTSC
PT -1 faxawor Hd! &

1. Observation/ e

2. Questionnaire/ PRGN



3. Interview/ JI&Th R

4. Case-Study/ UDRU bl AT

Correct Answer :-

« Case-Study/ Ul bl AIgq

31) Which among the following is the objective of ICDS Scheme?/ Fa# d

®IH, ATEASITH WHIH $T Ig= el 872

1. To improve the nutritional and health status of children in the age group of 0-6

years/0-6 Y 31 THE & S| o Y01 U9 WA TR H GUR HAT

2. To lay the foundation for proper psychological, physical and social development of

the child/ §= & TYfId G, ARINSG 3R TS (B $T YR HHT BT

3. To reduce the incidence of mortality, morbidity, malnutrition and school droup out/

TRURNAAT, §-&X, PUINUI, T Hd B8 DI &} H BT B3l
4. All of the above/ SWRIdd g

Correct Answer :-

o All of the above/ IWRIad gt

32) Which among the following statements is False?/ & @ o9 91 FY= Tad

2

1. An impairment may or may not lead to a disability/ AT & HRUT - 81 a1 8
EREXI

2. A disability may or may not result in a handicap/ R adar & SR fawmanTdar g1 a1 Jat

g gbal gl

3. A person whose body is not normal also has a mind that is not normal/ T Afad

e IR IE= T 81, 391 ARass Hf IH= T8 gidil

4. A disabled person may be handicapped in some areas/situations, but not in others/

Ps (- Xad Afda $o & aRfufadt § fawa 8 g g afer o= o gt |

Correct Answer :-

« A person whose body is not normal also has a mind that is not normal/ o Afad

RIg®T TRR IEM T 81, 96T AfTs Ht grar=a 8! gidT|

33) Which among the following Ministry has the overall responsibility of

monitoring the ICDS scheme?/ g 9 forg damaa & urg Gﬂﬁ?ﬂwwﬁﬁﬁ
AR &1 g i 82

1. Ministry of Women and Child Development/ HAfgdl Td aTd faerg Hared



2. Ministry of Child Development/ HFd I1¢ famra Hare™
3. Ministry of Health and Family Welfare/ WY Ud URAR &HedT0l HAT

4. Ministry of Social Justice and Empowerment/ JTHISI® <a1g Td HfAHTIRAT HaTe™

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td aTd fasra Hae™d

34) Which among the following are critical for the development of

creativity?/ U & @ #\4, Ye-Ta®al faerT ¥ Hewayuf 82

1. 5 to 6 years when children are ready to enter school and they must learn to accept
authority and conform to the rules and regulations/5 ¥ 63‘&3’&’6@%@%{%@
TR BId & 3R 9 TSR T WHR ST adl ot g fafadi &1 qurgEy uraq &1 ¥had g |

2.8 to 10 years when there is a desire to be accepted as a member of a gang/S@I 10

Y OE g & Yo P U T Wipd by o B A1 gt g1

3. 13 to 15 years when children are striving for peer approval, especially from

members of opposite sex/ 139 15 EAECEE RIREIE G@:ﬁ?{, IRy faudia fef arat
T § STHIG 3 Y Hd g

4. All of the above/ IR gt

Correct Answer :-

e All of the above/ IWRIFd gt

35) Children begin to develop an understanding of themselves as separate
and distinct from the environment, causality, time and space in which stage
of cognitive development?/ TS fIwTT & ford w1 # s= wafarur, RUMET, 994
3R ferwi A guw 3R fAIRy wau &t gust fawfra e uRy w3 3d &2

1. Sensorimotor/ HddIUR®
2. Pre-operational/ Jd-dfsharete

3. Concrete operational/ 319 Ifhard®

4. Formal operational/ 3hu=aTike dfhareds

Correct Answer :-

« Sensorimotor/ TAdIURS

36) The sequence of elements constituting the process of learning is:/ 3fRTH

&g uferar fAfore Tl &1 %9 §:
1. The stimulus, the learner, and the response/ GEIEPFW, ﬁr&ﬂ%ﬁ, 3R ufafspar



2. The learner, the stimulus and the response/ ﬁT&ﬂ?ﬁ, BEEPFW 3R ufafsran
3. The response, the stimulus and the learner/ Ufdfsha, Igdiue 3R fRemef
4. The stimulus the response, and the learner/ B_CEEETW, gfafan, 3R fRremeff

Correct Answer :-

« The learner, the stimulus and the response/ fR1&nlf, Igcius iR ufafear

37) Abnormal repet|t|ons and prolongation of speech sounds occur in:/

SATHIRY G-RTGIRAT 3R arep eafral &1 drefe o & grar @
1. Stuttering/ gHEC

2. Cluttering/ f&ro=aRu gy

3. Distortion / f&&=URUI

4. None of these/ Eﬁﬁ@faﬁ?ﬁﬁ

Correct Answer :-

« Stuttering/ g digc

38) One of the concept which is not developed during early childhood years

is:/ 9§ AYRN, STt IRFUF STearawdt & quf & GR1 fawha T 21t #:
1. Relative location/ 3afére safufd

2. Relative size/ 3MTUf&® SHTHR

3. Classification/ effep T

4. Abstract Thinking/ Gﬂ?f@l?:r

Correct Answer :-

« Abstract Thinking/ &ﬂﬁf@?{

39) According to which law of developmental direction, development spreads

from%head to toe?/ fawrarar® fazn & fora oo & sgaR, fawra RR A v 9@ fawga
g1 82

1. Cephalocaudal law/ Ritharegsd fFam
2. Proximodistal law/ UifagAIfsed fFaq
3. Patterned law/ Yo oT |

4. Head and Toe Law/ R T uig &1 a8

Correct Answer :-



. Cephalocaudal law/ Ritrargga fAad

40) The concept people have of ‘who’ and ‘what’ they are, is known as:/

HfFTdl Bt wd B DI IR "R B HAYRN, FgaATd! 8
1. Self esteem/ T UfdsT

2. Real Self Concept/ aRdfd® W MGYRUMN

3. Ideal Self Concept/ TS W SGYRON

4. Social recognition/ TS A=l

Correct Answer :-
« Real Self Concept/ drfddh ¥ YR

41) The embryo begins to differentiate itself into three distinct layers known

as:/ YUT @4 & 91 faRRy wal & faifea swar 8 < sgarndt €
1. Ectoderm, Mesoderm and Endoderm/ Slgdcddl, HEISTR 3R 3Tl TER
2. Microsystem, Mesosystem and Exosystem/ J&IYUGH, HEAYUME, Sfeyome

3. Pre conventional, Conventional and Post Conventional/ qﬁgia}lﬂ, eTd 3R WH

4. Dermis, Epidermis and Endodermis/ IH, STgdwad (3ifra) SR Siaeaan (3idy)

Correct Answer :-

. Ectoderm, Mesoderm and Endoderm/ STgaw@dl, HEAWR 3R iR

42) Pre-schooler belongs to which stage of Kohlberg’s theory of morality?/

M-IPR (A [d 341g & =), Hraadl & Afdedr & Rigia & fra o § d&fta 32
1. Morality by constraint/ STeadr ¥ Sfdedr
2. Social system morality/ ITHTRST® ol Afdear

3. Social contract or utility and individual rights/ ST Tfaer a1 ST iR fdard
SHIYHR

4. Universal ethical principles/ I1d4iy Afa® fgia

Correct Answer :-

« Morality by constraint/ e ¥ Afaedr

43) Article 19 of the UN Convention on Rights of the Child provides:/ H’{[ER-RTg
T SITUPTR TS BT 3 Tde 19 FIT WITUTH HT &:



1. Scholarship to children with special needs/ faRRy sraxgemarsii ard g &1 i9|9|<1|R'|

2. Access to information and mass media for children/ Sl 8q a3l Td S-RAR AT&H]
d% Ugd

3. Protection to children from all types of violence, exploitation, neglect and abuse/

it vHR Pt g, Iafted, e 3R gHdeR ¥ S| BT UREfUl

4. Freedom of association to children/ S g A6 P! WAl

Correct Answer :-

« Protection to children from all types of violence, exploitation, neglect and abuse/

it vHR Pt g, Iafted, Iue 3R gHdeR ¥ S| BT UREfUl

44) Which among the following institute is situated at Dehradun?/ fAufaf@a #
A I AT R SgRTg | fRya 82

1. National Institute for the Visually Handicapped/ 810 efSafid fasi dwi

2. National Institute of Mental Health and Neuro Sciences (NIMHANS)/ JTStd HIHRYe®
WY g dfAeT fag I (TF3EuHuaueey)
3. National Institute for Physically Handicapped/ I3 YRR fasvait T

4. National Institute for Hearing Handicapped/ TSI a1 faeh it TR

Correct Answer :-

. National Institute for the Visually Handicapped/ 1§13 ef¥eTfad faeei IR

45) Which among the following is used as an efficient mobility aid for the
visually impaired?/ fF9 d 9 f5a yauatiia wfe 8q v guTdt 9oa Jerd® & S0 d
IuANT fopaT SiraT 82

1. Hoover Cane/ ETR%
2. Snellen Chart/ & a1¢

3. Dogs/ 1

4. None of the above/ SWRiad § 4 or?lé:l'é’f

Correct Answer :-

« Hoover Cane/ ETR%



